
SSC_CGL_PRE_2024                   TEST ID - SCP - 904053836 

 

 

 

Fb:- https://www.facebook.com/tesmuseduserve            1 | Page                       Web :- https://tesmus.com 

 

       INSTRUCTIONS TO CANDIDATE      

Read the following instructions carefully before you begin to attempt the questions. 

(1) This booklet contains 100 Questions in all comprising the following Four parts.  

Part-(I)   : Quantitative Aptitude     (25 Questions) 

Part-(II)  : Reasoning Aptitude     (25 Questions) 

Part-(III) : General Studies      (25 Questions) 

Part-(IV) : English Language     (25 Questions) 

(2) All the questions are compulsory and carry equal marks. 

(3) Before you start to attempt the questions, you must explore this booklet and ensure that it contains all the pages 

and find that no page is missing or replaced. If you find any flaw in this booklet, you must get it replaced 

immediately. 

(4) Each question carries negative marking also as 0.5 mark will be deducted for each wrong answer.  

(5) You will be supplied the Answer-sheet separately by the invigilator. You must complete the details of Name, Roll 

number, Test name/Id and name of the examination on the Answer-Sheet carefully before you actually start 

attempting the questions. You must also put your signature on the Answer-Sheet at the prescribed place. These 

instructions must be fully complied with, failing which, your Answer-Sheet will not be evaluated and you will be 

awarded ‘ZERO’ mark. 

(6) Answer must be shown by completely blackening the corresponding circles on the Answer-Sheet against the 

relevant question number by pencil or Black/Blue ball pen only. 

(7) A machine will read the coded information in the OMR Answer-Sheet. In case the information is incompletely/ 

different from the information given in the application form, the candidature of such candidate will be treated as 

cancelled. 

(8) The Answer-Sheet must be handed over to the Invigilator before you leave the Examination Hall.  

(9) Failure to comply with any of the above Instructions will make a candidate liable to such action/penalty as may be 

deemed fit. 

(10) Answer the questions as quickly and as carefully as you can. Some questions may be difficult and others easy. Do 

not spend too much time on any question. 

(11) Mobile phones and wireless communication device are completely banned in the examination halls/rooms. 

Candidates are advised not to keep mobile phones/any other wireless communication devices with them even 

switching it off, in their own interest. Failing to comply with this provision will be considered as using unfair means in 

the examination and action will be taken against them including cancellation of their candidature. 

(12) No rough work is to be done on the Answer-Sheet. 

(13) No candidate can leave the examination hall before completion of the exam. 
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Quantitative Aptitude  

1. 'A' alone can do 50% of some work in 20 days. 'B' 
alone can do 40% of the work in 24 days. If they work 
together, then how much time will they take to finish 
75% of the work? 
(A) 24 days  (B) 15 days 
(C) 18 days  (D) 30 days 
 

2. Radii of two circles are 12 cm and 5 cm and distance 
between their centres is 25 cm. Find the length of 
direct common tangent of the two circles. 
(A) 32 cm  (B) 24 cm 
(C) 36 cm  (D) 30 cm 
 

3. The probability of three students solving a problem is 
(4/9) , (3/8) and (17/25) . What is the probability of the 
problem being solved? 
(A) (5/8)   (B) (2/3)  
(C) (7/9)   (D) (8/9)  
 

4. Suraj bought an article at 40% discount on marked 
price and sold it after allowing a 25% discount on 
marked price. Find his gain percentage. 
(A) 15%   (B) 25% 
(C) 20%   (D) 7.5% 
 

5. ΔABC is right angled at 'B' such that cot C = (8/15) , 
then sec C + tan A - cosec C will be equal to: 
(A) 61/47  (B) 63/40 
(C) 63/47  (D) 61/40 
 

6. The table given below shows the number of phones 
sold by a seller during 5 different years. Read the 
table carefully and answer the question that follows: 

Year Number of phones sold 

2015 500 

2016 750 

2017 600 

2018 550 

2019 600 

During how many of the given years, number of 
phones sold by the seller were more than 20% of the 
total number of phones sold during all the given five 
years together? 
(A) 3   (B) 2 
(C) 1   (D) 0 
 

7. A sum amounts to Rs. 27,560 when invested at 
simple interest of 8.4% p.a. for 4.5 years. Find the 
interest earned if same sum is invested at simple 
interest of 8% p.a. for 2.5 years. 
(A) Rs. 5,000  (B) Rs. 4,000 
(C) Rs. 6,000  (D) Rs. 10,000 
 

8. What is the value of a3 + b3 - c3 + 3(a + b) (b - c) (a - 
c)? 
(A) (a + b - c) 3  (B) (a + b + c) 3 
(C) (a - b - c) 3  (D) (a - b + c) 3 

 

9. 
1+tan⁡ 𝐴

1−tan⁡ 𝐴
 is equal to which of the following (where θ ≠ 

𝜋

2
): 

(A) 
(cos⁡ 𝐴+sin⁡ 𝐴)⁡

(sin⁡𝐴−cos⁡ 𝐴)⁡
   (B) 

(sin⁡𝐴+cos⁡ 𝐴)⁡

(cos⁡ 𝐴−sin⁡ 𝐴)⁡
  

(C) 
(sin⁡𝐴−cos⁡ 𝐴)⁡

(cos⁡ 𝐴−sin⁡ 𝐴)⁡
   (D) 

(cos⁡ 𝐴−sin⁡ 𝐴)⁡

(sin⁡𝐴+cos⁡ 𝐴)⁡
  

 
10. If the profit earned on selling an article is (3/5) th its 

selling price, then find the gain percentage. 
(A) 100%  (B) 75% 
(C) 150%  (D) 300% 
 

11. The table given below shows the sum of number of 
carrots and radishes sold and ratio of number of 
carrots sold to that of radishes sold, by a shop on 5 
days of a given week. 

Day Sum of number of 
carrots and 

Radishes sold 

Ratio of number of 
carrots sold to that of 

radishes sold 

1 320 3:5 

2 270 7:8 

3 360 1:2 

4 315 10:11 

5 360 5:4 

Find the sum of number of carrots sold on days 1, 3 
and 5, together. 
(A) 500   (B) 420 
(C) 380   (D) 440 
 

12. Present age of 'A' is 20% more than that of 'B'. If the 
difference between their present ages is 5 years, then 
find the present age of 'C' given that he is 18 years 
older than 'A'. 
(A) 48 years  (B) 40 years 
(C) 32 years  (D) 36 years 
 

13. The line graph given below shows the number of 
laptops of two brands i.e. HP and Dell, sold by a 
company, in six months. Read the graph carefully and 
answer the question given below. 

 

 
The ratio of the total number of HP laptops sold in 
February, April, and June together to the total number 
of Dell laptops sold in January, April and May 
together is: 
(A) 10:17  (B) 30:53 
(C) 17:10  (D) 53:30 
 

14. If x:y = 12:7, and (x + y) = 57, then find the value 
of⁡[(𝑥 + 4𝑦) ∶ {8(𝑥 − 𝑦)⁡}]  
(A) 3:4   (B) 4:5 
(C) 3:2   (D) 1:1 
 

15. Three candidates 'A', 'B' and 'C' participated in an 
election. 'A' got 30% more votes than 'B' and 'C' got 
70% more votes than 'B'. 'C' overtook 'A' by 2700 
votes. If all the voters in the voting list cast their vote 
however 10% of the votes cast were declared invalid, 
then what was the number of voters in the voting list? 
(A) 28000  (B) 24000 
(C) 27000  (D) 30000 
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16. The LCM of 3/4, 2/5 & 7/12 is ___. 
(A) 42   (B) (84/45)  
(C) (455/60)   (D) (235/60)  
 

17. Pipe 'A' alone can fill 75% of a cistern in 18 minutes. 
Pipes 'A' and 'B' when opened together, take 33 
minutes to fill the empty cistern. Find the time taken 
by pipe 'B' alone to empty the cistern. 
(A) 88 minutes  (B) 90 minutes 
(C) 72 minutes  (D) 96 minutes 
 

18. A solid cuboidal box has length and breadth of 12 cm 
and 9 cm and a volume of 864 cm3. Find the 
difference in total surface area of this cuboidal box 
and a cubical box with edge length of 10 cm. 
(A) 36 cm2  (B) 64 cm2 

(C) 48 cm2  (D) 80 cm2 

 
19. A person lent certain sum of money at simple interest 

of 8% p.a. such that interest received by him at the 
end of 15 years is Rs. 750 more than the sum lent. 
Find the sum lent. 
(A) Rs. 2,680  (B) Rs. 3,750 
(C) Rs. 2,750  (D) Rs. 3,350 
 

20. 78 grams is what percent of 3 kg? 
(A) 2.6%   (B) 3.4% 
(C) 26%   (D) 0.26% 
 

21.  In the trapezium ABCD given below, AB = 18 cm, CD 
= 12 cm and 'P' is the mid-point of AC and 'Q' is the 
mid-point of BD. Find the length of the PQ. 

 
(A) 15 cm  (B) 12 cm 
(C) 14 cm  (D) 16 cm 
 

22. Find the simplified value of the given expression: 

5
3

7
× 2

3

9
+ 3

2

5
÷ 8

1

2
×

1

2
÷ [2

3

5
− 1

1

4
]  

(A) (123/29)   (B) (237/29)  
(C) (346/27)   (D) (124/27)  
 

23. From a point 'P' on the ground, the angle of inclination 
to the top of a 60-metre tall flag pole is 30o. Find the 
distance between the foot of the flag pole and point 
'P'. 
(A) 60√3 metres  (B) 20 metres 
(C) 20√3 metres  (D) 30√2 metres 
 

24. 135% of 220% of 200 is equal to what percent of 
750? 
(A) 82.4%  (B) 79.2% 
(C) 74.6%  (D) 81.8% 
 

25. If (x - a) (x - b) = 1 and (a - b + 8) = 0, then find the 
value of: 

(x - a) 3 - 
1

(𝑥−𝑎)⁡3
. 

(A) 536   (B) 654 
(C) 424   (D) 585 

Reasoning Aptitude 

26. Select the option that represents the correct order of 
the given words as they would appear in an English 
dictionary. 

1- Mission  2- Millennium 
3- Mineral  4- Misfortune 
5- Mistake 
(A) 3, 2, 1, 4, 5  (B) 2, 3, 4, 1, 5 
(C) 2, 4, 3, 1, 5  (D) 2, 3, 1, 4, 5 
 

27. By interchanging the given two signs and numbers, 
which of the following equation will not be correct? 
÷ and -, 121 and 144 
I. 225 - 3 + 144 × 2 ÷ 121 = 173 
II. 121 × 2 ÷ 144 - 11 × 6 = 224 
(A) Both I and II  (B) Only II 
(C) Neither I nor II (D) Only I 
 

28. Find the ODD one out from the given options. 
(A) 6743:5411  (B) 3434:2102 
(C) 5537:4205  (D) 2286:1054 
 

29. Select the option in which the given figure is 
embedded (rotation is not allowed) . 

 

(A)  (B)  

(C)  (D)  
 

30. Select the option that is related to the fifth element in 
the same way as the second element related to the 
first element and the fourth element is related to the 
third element. 
PICK: 1710412:: BROAD: 3191625 :: CURSE: ? 
(A) 32118195  (B) 42218195 
(C) 32118206  (D) 42219206 
 

31. In the following question below are given some 
statements followed by some conclusions based on 
those statements. Taking the given statements to be 
true even if they seem to be at variance from 
commonly known facts. Read all the conclusions and 
then decide which of the given conclusion logically 
follows the given statements. 
Statements: All LL is MM. 
Some SS is LL. 
All MM is KK. 
Conclusions: I. Some LL is not KK. 
II. Some SS is KK. 
III. All LL is KK. 
(A) Only conclusions II and III follow  
(B) Only conclusions I and II follow 
(C) None of the above conclusion follows 
(D) Only conclusion III follows 

 
32. Four letter-clusters have been given, out of different. 

Select the letter-cluster that is different. 
(A) MPH   (B) SVN 
(C) WZR   (D) FIB 

 
33. Which letter cluster will complete the given series? 

DSWT, FRZR, HQCP, JPFN, LOIL, _____ 
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(A) NLNJ  (B) NNLJ 
(C) NMLJ  (D) NQKM 
 

34. A series is given with one term missing. Choose the 
correct alternatives from the given ones that will 
complete the series. 
9, 12, 29, 32, 69, 72, ___ 
(A) 154   (B) 149 
(C) 75   (D) 147 
 

35. Three different positions of the same dice are shown. 
Find the letter, which can be on the face opposite to 
the face showing 'M'. 

 
(A) J   (B) L 
(C) O   (D) K 
 

36. In a certain code language, 'FIGHTER' is written as 
'####$@$' and 'SOLEMN' is written as '$&&@&&'. 
How will 'PROMOTE' be written in that language? 
(A) &&$$$&@  (B) $$&&&$@ 
(C) &$&&&$#  (D) $$&&&&@ 
 

37. A cube is made by folding the given sheet, in the 
cube so formed, which of the following pairs of letters 
are on opposite sides? 

 
(A) #, @   (B) {, & 
(C) $, {   (D) %, & 
 

38. Find the ODD one out from the given options. 
(A) 964: 216  (B) 445: 80 
(C) 237: 42  (D) 468: 196 
 

39. Which two digits and signs can be interchanged so as 
to balance the given equation? 
176 + 4 ÷ 22 × 10 - 444 = 155 
(A) 22 and 4; + and ÷ (B) 4 and 22; = and - 
(C) 176 and 444; ÷ and + (D) 444 and 155; × and + 
 

40. A series is given with two terms missing. Choose the 
correct alternatives from the given ones that will 
complete the series. 
-5, -4, -2, ____, 5, 10, 16, 23, ____ 
(A) -1, 30  (B) 2, 29 
(C) 1, 31   (D) 2, 30 
 

41. The mirror image of a clock shows the time of 
04:19hrs. What is the time shown on the clock? 
(A) 08:41hrs  (B) 08:14hrs 
(C) 07:14hrs  (D) 07:41hrs 
 

42. If 'A + B' means that A is the brother of B, 'A × B' 
means that A is the daughter of B, 'A ÷ B' means that 
A is the father of B, then which of the following 
expression shows that R is the wife of S? 
(A) P ÷ R + S  (B) R + S × P 
(C) P × S ÷ R  (D) S ÷ P × R 

43. In a certain code language, 'HIGH' is coded as '16' 
and 'VEIN' is coded as '36'. How will 'TOUR' be coded 
in that language? 
(A) 40   (B) 38 
(C) 26   (D) 36 
 

44. Select the correct mirror image of the given 
combination when the mirror is placed at line MN as 
shown. 

 

(A) (B)  

(C) (D)  
 

45. Find the number of triangles in the given figure.  

  
(A) 18   (B) 20 
(C) 16   (D) 22 
 

46. In the question, assuming the given statements to be 
true, find which of the conclusion (s) among given 
three conclusions is /are definitely true and then give 
your answer accordingly. 
Statements: K = L > M; S = O ≥ C; A < Z ≤ C; S ≤ M 
Conclusions: I. Z ≤ M II. S > A  III. K ≥ O 
(A) Only conclusion II follows  
(B) Only conclusion III follows 
(C) Only conclusions I and II follow  
(D) Only conclusions II and III follow 
 

47. In the following question below are given some 
statements followed by some conclusions based on 
those statements. Taking the given statements to be 
true even if they seem to be at variance from 
commonly known facts. Read all the conclusions and 
then decide which of the given conclusion logically 
follows the given statements. 
Statements: All Tall is Giraffe. 
Some Giraffe is Short. 
No Tall is Zebra. 
Conclusions: I. Some Giraffe is not Zebra. 
II. No Tall is Short. 
III. Some Zebra is Short. 
IV. Some Tall is not Zebra. 
(A) Only conclusion II follows   
(B) Only conclusions I and IV follow 
(C) Only conclusions II, III and IV follow 
(D) Only conclusion III follows 
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48. A question is given, followed by two statements 
numbered (I) and (II) . You have to decide whether 
the data provided in the statements is sufficient to 
answer the question. Read both the statements and 
select the appropriate answer. 
Question: K, L, M and N are sitting around a circular 
table facing towards the centre. Who sits immediate 
left of N? 
Statements: I) Only one person sits between L and 
N. K doesn't sit immediate left of L. 
II) L sits third to the right of K. M sits second to the 
right of K. 
(A) Data in statement I alone is sufficient to answer 
the question while data in statement II is not.  
(B) Data in either statement I alone or statement II 
alone is sufficient to answer the question. 
(C) Data in statements I and II together is sufficient to 
answer the question.  
(D) Data in statement II alone is sufficient to answer 
the question while data in statement I is not. 

 
49. The sequence of folding a piece of paper and the 

manner in which, it is folded has been cut is shown in 
the following figure. How would this paper look when 
unfolded? 

 

(A)  (B)  

(C)  (D)  
 

50. Ria, who faces in the north direction, walks 5m in a 
straight line in the direction she faces. She then takes 
a right turn and walks 10m. She then takes a left turn 
and walks 4m. She then again takes a left turn and 
walks 12m. She then walks 8m in the south direction. 
Finally, she turns to her right, walks 6m and reaches 
her destination. What is the direction of her 
destination with respect to the point she started? 
(A) South-east  (B) North-west 
(C) North-east  (D) South-west  

General Awareness  

51. The Ramakrishna Mission stressed the ideal of 
_________ through social service and selfless action. 
(A) Education  (B) Salvation 
(C) God   (D) Bhakti 
 

52. Self-ploughing is a characteristic of the ________ as 
it develops wide cracks when dried. 
(A) Alluvial soil  (B) Red soil 
(C) Laterite soil  (D) Black soil 
 

53. Recently, VISA has introduced CVV free online 
transactions for domestic tokenised credentials in 
India. Here, 'C' in 'CVV' stand for? 
(A) Currency  (B) Cash 
(C) Credit  (D) Cardholder 
 

54. Which of the following article of the Indian constitution 
contains the Promotion of educational and economic 

interests of scheduled castes, scheduled tribes, and 
other weaker sections? 
(A) Article 44  (B) Article 38 
(C) Article 46  (D) Article 49 
 

55. Murshid Quli Khan was the ruler of which area? 
(A) Deccan  (B) Malwa 
(C) Bengal  (D) Punjab 
 

56. As per the latest news, UNDP has signed a 
Memorandum of Understanding (MoU) with The 
Ocean Cleanup to eliminate plastic pollution in the 
oceans. 
The headquarters of the United Nations Development 
Programme (UNDP) is located in ________. 
(A) Geneva  (B) Paris 
(C) Washington  (D) New York 
 

57. Who played a significant role in the development of 
the "Theory of Plate Tectonics"? 
(A) Koeppen  (B) A.G. Tansley 
(C) Harry Hess  (D) L.C. King 
 

58. Byopa is a traditional headgear of tribes belonging to 
_________. 
(A) Goa   (B) Kerala 
(C) Jharkhand  (D) Arunachal Pradesh 
 

59. A pig heart valve transplanted into a human recipient 
would be considered as a _________. 
(A) Autograft  (B) Isograft 
(C) Allograft  (D) Xenograft 
 

60. What did Gandhiji mean by 'Sarvodaya'? 
(A) Non-violence   
(B) Upliftment of untouchable 
(C) Satyagraha   
(D) Progress of All 
 

61. Madhavpur Mela takes place in: 
(A) Gujarat  (B) Uttar Pradesh 
(C) Madhya Pradesh (D) Maharashtra 
 

62. National Agriculture Extension Project (NAEP) was 
started during the year __________. 
(A) 1962-63  (B) 1972-83 
(C) 1981-93  (D) 1982-83 
 

63. Under which Article of the Indian Constitution is 
special provisions provided to the language spoken in 
a section of the population? 
(A) Article 327  (B) Article 357 
(C) Article 347  (D) Article 374 
 

64. What is the pH value of human urine? 
(A) 2.8   (B) 4.0- 4.5 
(C) 6.5 - 7.4  (D) 6.0 
 

65. Swarna Jayanti Gram Swarojgar Yojna estructured as 
___________. 
(A) National Rural Livelihoods Mission  
(B) Prime Minister's Rojgar Yojna 
(C) Jawahar Gram Samriddhi Yojana  
(D) Sampoorna Gramin Rojgar Yojana 
 

66. Which of the following is/are Palaeolithic site/s? 
(I) Bakunda 
(II) Langhnaj 
Select the correct answer using the code given below: 
(A) Only I  (B) Both I and II 
(C) Only II  (D) None of these 
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67. Consider the following statements with reference to 
NABARD and choose the correct option. 
(I) NABARD was established in 1970 by an act of 
Parliament. 
(II) It provides a facility of credit only for agriculture. 
(A) Only I is correct  
(B) Only II is correct 
(C) I and II both are correct   
(D) Neither I nor II is correct 
 

68. In which part of the body is blood cells produced? 
(A) Heart  (B) Brain 
(C) Bone Marrow  (D) Lungs 
 

69. Article 19 of the Constitution of India deals with 
_________. 
(A) Right to Equality  
(B) Right to freedom 
(C) Right to Education  
(D) Abolition of untouchability 
 

70. When is "World Hepatitis Day" observed? 
(A) 28 July  (B) 11 September 
(C) 30 August  (D) 24 June 
 

71. Place, where Ozone Layer is primarily found, is: 
(A) Troposphere  (B) Mesosphere 
(C) Stratosphere  (D) Ionosphere 
 

72. The main reason for the decrease in biodiversity is: 
(A) Over-exploitation  
(B) Habitat pollution 
(C) Habitat destruction  
(D) Introduction of exotic species 
 

73. Egg Shell is made of which of the following 
compound? 
(A) Sodium nitrate (B) Carbon disulfide 
(C) Phosphorus trioxide (D) Calcium carbonate 
 

74. Chief Justice of India is the highest-ranking officer of 
the Indian Judiciary. Chief Justice of India is 
appointed by who among the following? 
(A) Defence minister (B) President 
(C) Prime Minister (D) Home Minister 
 

75. Who has become the first Indian woman hockey 
player to have a stadium named after her? 
(A) Vandana Kataria (B) Rani Rampal 
(C) Savita Punia  (D) Sushila Chanu 

English Language 

76. Select the most appropriate antonym of the given 
word. 
Commend 
(A) depart  (B) delay 
(C) rebuke  (D) praise 
 

77. Find out which part of the sentence has an error and 
select the appropriate option. 
Holmes's cross-examination (A) / was interrupting by 
an (B) / imperative knock at the door. (C) / No error 
(D)  
(A) A   (B) B 
(C) C   (D) D 
 

78. Select the most appropriate synonym of the given 
word. 
Exaggerate 
(A) exert   (B) imply 
(C) amplify  (D) accentuate 

79. Out of the following choose the word which expresses 
the word opposite in meaning to the given word. 
Inevitable 
(A) avoidable  (B) constant 
(C) extreme  (D) vague 
 

80. Select the most appropriate word to fill in the blank. 
Dozens of media outlets have had to _______ a 
distrustful public. 
(A) encounter  (B) elope 
(C) entice  (D) allure 
 

81. Select the most appropriate word to fill in the blank. 
The team's success was due to their ________ work 
ethic. 
(A) consistent  (B) unconventional 
(C) mediocre  (D) hapless 
 

Directions [82-86]: In the following passage, some of the 
words have been left out. Read the passage carefully 
and select the correct answer for the given blank out 
of the four alternatives. 

 
June 8 is marked as National Best Friends Day in the 
United States and Canada, but now, because of 
globalization, it has become popular everywhere. This 
day is a/an excellent ___(I) ___ to spend quality time 
with those who are always there to catch us when we 
fall. Although the first Sunday of August was ___(II) 
___ as National Friendship Day, after a hearing in the 
US Congress in 1935, on June 8, National Best 
Friends Day came into ___(III) ___. This day was not 
well ___(IV) ___ by people in the past; however, it 
has earned its place in recent times because of social 
media. People ___(V) ___ in a variety of activities 
with full vigour to celebrate this day. 

 
82.  (I)  

(A) inspection  (B) negotiation 
(C) opportunity  (D) awareness 

 
83. (II)  

(A) pleased  (B) selected 
(C) wasted  (D) migrated 

 
84.  (III)  

(A) existence  (B) retaliation 
(C) competition  (D) obligation 

 
85.  (IV)  

(A) argued  (B) fascinated 
(C) requested  (D) known 

 
86.  (V)  

(A) transform  (B) participate 
(C) retain  (D) inherit 
 

87. Select the most appropriate meaning of the given 
idiom. 
Let the cat out of the bag 
(A) to adopt a cat  (B) to reveal a secret 
(C) to play with a cat (D) to feed a cat 

 
88. Select the correct passive form of the given sentence. 

The young lad might have convinced the rich widow. 
(A) The rich widow will be convinced by the young 
lad.   
(B) The rich widow might have been convinced by the 
young lad. 
(C) The rich widow m 
ight convincing by the young lad.  
(D) The rich widow may have been convinced by the 
young lad. 
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89. In the following question, out of the four alternatives, 
select the alternative which best expresses the 
meaning of the Idiom/ Phrase. 
Out of the woods 
(A) to face two equally unpleasant choices 
(B) to prevent something bad from affecting you 
(C) to be focused about achieving a goal 
(D) to no longer be in danger or difficulty 

 
90. Select the most appropriate option to substitute the 

underlined segment in the given sentence. If there is 
no need to substitute it, select No improvement. 
Even though I held up my anger during the episode, 
it does not mean I have nothing to say. 
(A) held on  (B) held back 
(C) held off  (D) No improvement 
 

91. Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is 
no need to substitute it, select 'No substitution 
required'. 
We are looking to the feasibility of building a 
shopping centre opposite the park. 
(A) No improvement (B) looking up to 
(C) looking at  (D) looking after 
 

92. Select the correct spelling of the word. 
(A) inumerable  (B) innummerable 
(C) innumerable  (D) innumerabal 
 

93. Select the correct indirect form of the given sentence. 
Kavya said to him, "I am going to tell the manager." 
(A) Kavya told him that she had been going to tell the 
manager.   
(B) Kavya told him that she has been going to tell the 
manager. 
(C) Kavya told him that she was going to tell the 
manager.   
(D) Kavya told him that she goes to tell the manager. 

 
94. In the question given below, rearrange the fragments 

in the correct order, and choose the correct option. 
P. As it cools, the solubility of this compound drops 
and it is partially released on the surface of the liquid 
as a film. 
Q. Tea leaves contain phenolic compounds, tannins, 
which give a strong drink an astringent taste, and 
alkaloids, primarily thein. 
R. When the cup is tilted and sipped from it, this film 
ends up on the walls and dries out, resulting in a 
stain. 
S. When the tea is brewed, these come out in solution 
and react with each other. 
(A) SQRP  (B) QSPR 
(C) QRSP  (D) PSQR 
 

95. In the following question, a sentence has been given 
in Direct/ Indirect speech. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Direct/ Indirect speech. 
Mohan said to me, "I have been preparing the project 
for five hours." 
(A) Mohan told me that he was preparing the project 
for five hours.   
(B) Mohan told me that he has been preparing the 
project for five hours. 
(C) Mohan told me that he would be preparing the 
project for five hours.  
(D) Mohan told me that he had been preparing the 
project for five hours. 
 

96. In the following question, out of the four alternatives, 
select the alternative which is the best substitute for 
the phrase. 
A person who is new to or inexperienced in a job or 
situation 
(A) novice  (B) veteran 
(C) connoisseur  (D) Aficionado 

 
97. Select the most appropriate option to substitute the 

underlined segment in the given sentence. If there is 
no need to substitute it, select 'No substitution 
required'. 
The executive couldn't assist me, so he put me up 
to a senior manager. 
(A) put me through (B) No improvement 
(C) put me down  (D) put me off 

 
98. In the following question, out of the four alternatives, 

choose the one which can be substituted for the given 
words/sentence. 
In complete agreement 
(A) ubiquitous  (B) unanimous 
(C) utopia  (D) unavoidable 

 
99. Select the wrongly spelled word. 

(A) diaphanous  (B) ambiguous 
(C) amicable  (D) duplicitious 

 
100. In the following question, one part of the sentence 

may have an error. Select the option containing the 
error as your answer. 
The fascinating part of the book (A) / is watching the 
character change (B) / as she become more famous. 
(C) / No error (D)  
(A) A   (B) B 
(C) C   (D) D 
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Quantitative Aptitude  

1. Answer: (C) 
Time taken by 'A' to finish total work = 20 ÷ 0.5  
= 40 days 
Time taken by 'B' to finish the total work = 24 ÷ 0.4  
= 60 days 
Let the total work be 120 units. {LCM (40 and 60)} 
So, efficiency of 'A' = 120 ÷ 40 = 3 units/day 
And efficiency of 'B' = 120 ÷ 60 = 2 units/day 
So, time taken to finish 75% of the work = (120 × 
0.75) ÷ (2 + 3) = (90/5) = 18 days 
Hence, option c. 

2. Answer: (B) 
We know that, 
Direct common tangent of a circle  
= 

 √( Distance of centers)2 − ( Difference between radius )2 

So, required length  

=  √252 − (12 − 5)2 = √625 − 72 = √625 − 49 

= √576 = 24 cm 
Hence, option b. 

3. Answer: (D) 
Probability of problem being solved = 1 - probability of 
problem not being solved 
Probability of the problem not being solved  
= {1 - (4/9)} × {1 - (3/8)} × {1 - (17/25)}= (5/9) × (5/8) × 
(8/25) = (1/9) 
So, required probability = 1 - (1/9) = (8/9) 
Hence, option d. 

4. Answer: (B) 
Let the marked price of the article be Rs. '100x' 
So, cost price of the article for Suraj = 100x × 0.6  
= Rs. '60x' 
And selling price of the article for Suraj = 100x × 0.75 
= Rs. '75x' 
So, profit earned by Suraj = 75x - 60x = Rs. '15x' 
So, gain percentage = (15x/60x) × 100 = 25% 
Hence, option b. 

5. Answer: (D) 

 
So, AC2 = AB2 + BC2 
Or, AC2 = 152 + 82 
Or, AC2 = 225 + 65 
Or, AC2 = 289 
So, AC = 17 (Since, length cannot be negative 
therefore we will take the positive root only) 
So, required value = sec C + tan A - cosec C 

=
17

8
+

8

15
−

17

15
 {Using, sec C = (AC/AB), tan A  

= (BC/AB) and cosec C = (AC/AB)} 

=
255+64−136

120
 =

183

120
=

61

40
 

6. Answer: (C) 
Total number of phones sold during the given five 
years together = 500 + 750 + 600 + 550 + 600 = 3000 
20% of 3000 = 600 
We can see from the table that total number of 
phones sold were more than 600 only in 2016. 
Hence, option c. 

7. Answer: (B) 
Let the sum invested be Rs. 'P'. 
ATQ; 
27560 - P = (P × 8.4 × 4.5) ÷ 100 
Or, 27560 = P + 0.378P 

Or, 27560 = 1.378P 
So, P = 20000 
So, interest earned = (20000 × 8 × 2.5) ÷ 100  
= Rs. 4,000 
Hence, option b. 

8. Answer: (A) 
Concept used: 
(m + n + p)3 = m3 + n3 + p3 + 3(m + n)(n + p)(p + m).... 
So, required value = a3 + b3 - c3 + 3(a + b)(b - c)(a - c) 
By comparing, 
'm' = 'a' 
'n' = 'b' 
And, 'p' = '-c' 
So, a3 + b3 - c3 + 3(a + b)(b - c)(a - c) = (a + b - c)3 

9. Answer: (B) 
1+tan 𝐴

1−tan 𝐴

=
1+

sin 𝐴

cos 𝐴

1−
sin 𝐴

cos 𝐴

=
1

cos 𝐴
×(sin 𝐴+cos 𝐴)

1

cos 𝐴
×(cos 𝐴−sin 𝐴)

=
(sin 𝐴+cos 𝐴)

(cos 𝐴−sin 𝐴)

  

10. Answer: (C) 
Let the profit earned on selling the article be Rs. '3x' 

So, selling price of the article = 3x × (5/3) =  Rs. 
′5x′  

So, cost price of the article =5𝑥 − 3𝑥 = 𝑅𝑠.′ 2𝑥 ′  

So, gain percentage = = (3x/2x)X100 = 150%  
Hence, option c. 

11. Answer: (D)  
Number of carrots sold on day 1 = 320 × (3/8) = 120 
Number of carrots sold on day 3 = 360 × (1/3) = 120 
Number of carrots sold on day 5 = 360 × (5/9) = 200 
So, required sum = 120 + 120 + 200 = 440 
Hence, option d. 

12. Answer: (A) 
Let the present age of 'B' be 'x' years. 
So, present age of 'A' = x × 1.2 = '1.2x' years 
ATQ; 
1.2x - x = 5 
Or, 0.2x = 5 
So, x = 25 
So, present age of 'A' = 25 × 1.2 = 30 years 
So, present age of 'C' = 30 + 18 = 48 years 
Hence, option a. 

13. Answer: (B) 
Total number of HP laptops sold in February, April, 
and June together = 160 + 210 + 230 = 600 
Total number of Dell laptops in January, April and 
May together = 360 + 275 + 425 = 1060 
Required ratio = 600:1060 = 30:53 
Hence, option b. 

14. Answer: (D) 
Let 'x' and 'y' be 12a and 7a, respectively 
Therefore, (x + 4y) = 12a + 4 × 7a = 12a + 28a = 40a 
And, 8 × (x - y) = 8 × (12a - 7a) = 8 × 5a = 40a 
[(x + 4y):{8(x - y)}] = 40a:40a = 1:1 
Hence, option d. 

15. Answer: (D) 
Let 'B' got '10x' votes. 
So, number of votes that 'C' got = 10x × 1.7 = '17x' 
Number of votes that 'A' got = 10x × 1.3 = '13x' 
ATQ, 
17x - 13x = 2700 
Or, 4x = 2700 
So, 'x' = 675 
So, total number of votes which were cast  
= 13x + 10x + 17x = 40x = 40 × 675 = 27000 
So, total number of voters in the voting list  
= 27000 ÷ 0.9 = 30000 
Hence, option d. 

16. Answer: (A) 
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The LCM of of 3/4, 2/5 & 7/12  

= 
𝐿𝐶𝑀 𝑜𝑓 3,2 & 7

𝐻𝐶𝐹 𝑜𝑓 4,5 & 12
 = 

42

1
 = 42 

Hence, option a. 
17. Answer: (A)  

Time taken by pipe 'A' alone to completely fill the 
cistern = 18 ÷ 0.75 = 24 minutes 
So, let the capacity of the cistern = L.C.M of 24 and 
33 = 264 units 
So, efficiency of pipe of 'A' = 264 ÷ 24  
= 11 units/minute 
Combined efficiency of pipes 'A' and 'B' = 264 ÷ 33  
= 8 units/minute 
So, efficiency of pipe 'B' alone = 8 - 11  
= 3 units/minute (outlet)  
So, time taken by pipe 'B' alone to empty the cistern  
= 264 ÷ 3 = 88 minutes 
Hence, option a. 

18. Answer: (C)  
Height of the cuboidal box = 864 ÷ (12 × 9) = 8 cm 
So, total surface area of the cuboidal box = 2 × (12 × 
9 + 9 × 8 + 8 × 12)  
= 2 × (108 + 72 + 96) = 552 cm2 
Total surface area of the cubical box = 6 × 102  
= 600 cm2 
So, difference in surface area = 600 - 552 = 48 cm2 
Hence, option c. 

19. Answer: (B)  
Let the sum lent be Rs. 'x'. 
Therefore, interest received = Rs. (x + 750) 
So, x × (8/100) × 15 = (x + 750) 
Or, 1.2x - x = 750 
Or, 0.2x = 750 
Or, 'x' = (750/0.2) = 3750 
Therefore, sum invested = Rs. 3750 

20. Answer: (A) 
1 kg = 1000 grams 

So, required percentage = 
78

3000
× 100 = 2.6% 

Hence, option a. 
21. Answer: (A) 

Since, 'P' and 'Q' are mid-points of AD and BC, 
respectively. 
So, from the property of trapezium, 
PQ = 1/2 × (AB + CD) 
PQ = 1/2 × (18 + 12) 
PQ = 1/2 × 30 
So, PQ = 15 cm 
Hence, option a. 

22. Answer: (C) 

5
3

7
× 2

3

9
+ 3

2

5
÷ 8

1

2
×

1

2
÷ [2

3

5
− 1

1

4
]  

=
38

7
×

21

9
+

17

5
÷

17

2
×

1

2
÷ [

13

5
−

5

4
]  

=
38

3
+

17

5
×

2

17
×

1

2
÷ [

52−25

20
] =

38

3
+

1

5
×

20

27
  

Hence, option c. 
23. Answer: (A)  

 
In the given figure, let 'B' and 'A' represent the foot of 
the flag pole and the top of the flag pole, respectively. 
In right ∆PBA, 
tan30o = (AB/BP)  
Or, (60/BP) = (1/√3)  
So, BP = 60 × √3 = 60√3 metres 
Therefore, distance between the foot of the flag pole 
and point 'P' on the ground is 60√3 metres 

Hence, option a. 
24. Answer: (B)  

135% of 220% of 200 = 200 × 1.35 × 2.2 = 594 
Required percentage = (594/750) × 100 = 79.2% 

25. Answer: (A)  
a - b + 8 = 0 
So, 'b' = a + 8 
Now, (x - a)(x - b) = 1 
Or, (x - a)(x - a - 8) = 1 

Or, (x - a - 8) = 
1

(𝑥−𝑎) 
 

Or, (x - a) - 
1

(𝑥−𝑎) 
 = 8 

Squaring both sides, we get, 

(x - a)2 + 
1

(𝑥−𝑎)2 
 - 2 × (x - a) × {1/(x - a)} = 64 

So, (x - a)2 + 
1

(𝑥−𝑎)2 
 = 64 + 2 = 66 

Using (a3 - b3) = (a - b)(a2 + b2 + ab)  

So, (x - a)3 - 
1

(𝑥−𝑎)3
 = {(x - a) - 

1

(𝑥−𝑎) 
}{(x - a)2 + 

1

(𝑥−𝑎)3
 + 

1} 
= 8 × (66 + 1) 
= 8 × 67 
= 536 

Reasoning Aptitude 

26. Answer: (B) 
The correct dictionary order will be: 
2- Millennium, 3- Mineral, 4- Misfortune, 1- Mission, 5- 
Mistake 
So, (2, 3, 4, 1, 5) represents the correct dictionary 
order. 
Hence, option b. 

27. Answer: (B) 
I. 225 - 3 + 144 × 2 ÷ 121 = 173 
After interchanging the signs and digits in (I), we get: 
225 ÷ 3 + 121 × 2 - 144 = 173 
75 + 121 × 2 - 144 = 173 
75 + 242 - 144 = 173 
317 - 144 = 173 
173 = 173 
II. 121 × 2 ÷ 144 - 11 × 6 = 224 
After interchanging the signs and digits in (II), we get: 
144 × 2 -121 ÷ 11 × 6 = 224 
144 × 2 - 11 × 6 = 224 
288 - 66 = 224 
222 ≠ 224 
Therefore, by interchanging the given two signs and 
numbers in both the equations, only equation II will 
not be correct. 
Hence, option b. 

28. Answer: (D) 
The pattern followed above is: 
The difference between the 1st and 2nd number is 
1332. 
In option 'a', 
In option 'a', 
1st number = 6743, 2nd number = 5411, Difference  
= 6743 - 5411 = 1332 
In option 'b', 
1st number = 3434, 2nd number = 2102, Difference  
= 3434 - 2102 = 1332 
In option 'c', 
1st number = 5537, 2nd number = 4205, Difference  
= 5537 - 4205 = 1332 
In option 'd', 
1st number = 2286, 2nd number = 1054, Difference  
= 2286 - 1054 = 1232 ≠ 1332 
All of the above options follow the above pattern 
except option 'd'. 
Hence, option d. 

29. Answer: (D) 
The embedded figure is shown below, 
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Hence, option d. 

30. Answer: (D) 
The logic followed here is: 
The positional value of the immediate succeeding 
letter of each letter of the word is written from left to 
right as per the English alphabetical series. 
As, 'PICK' is related to '1710412' 

P (16) I (9) C (3) K (11) 

+1 +1 +1 +1 

17 10 4 12 

'BROAD' is related to '3191625' 

B (2) R (18) O (15) A (1) D (4) 

+1 +1 +1 +1 +1 

3 19 16 2 5 

Similarly, 'CURSE' is related to '42219206' 

C (3) U (21) R (18) S (19) E (5) 

+1 +1 +1 +1 +1 

4 22 19 20 6 

As, 'PICK' is related to '1710412' and 'BROAD' is 
related to '3191625' in the same way 'CURSE' is 
related to '42219206'. 
Hence, option d. 

31. Answer: (A) 
We draw the following figures: 

 
Conclusions: 
I. Some LL is not KK. This definitely doesn't follow as 
all LL is KK. 
II. Some SS is KK. This definitely follows as shown in 
the above figure. 
III. All LL is KK. This definitely follows as shown in the 
above figure. 
From the above figure, only conclusions II and III 
follow. 
Hence, option a. 

32. Answer: (D)  
The logic followed here is that second letter of the 
word is 3rd succeeding letter of the first letter and the 
third letter is 5th preceding letter of the first letter of 
the given word. 
In [MPH]; 
K + 3 = P; M - 5 = H 
In [SVN]; 
S + 3 = V; S - 5 = N 
In [WZR]; 
W + 3 = Z; W - 5 = R 
In [FIB]; 
F + 3 = I; F - 5 = A 
Hence, option d. 

33. Answer: (B) 
The pattern followed here is: 

In each letter cluster, the 1st letter is the 
2nd succeeding letter of the 1st letter of the previous 
element, the 2nd letter is the immediate preceding 
letter of the 2nd letter of the previous element, the 
3rd letter is the 3rd succeeding letter of the 3rd letter of 
the previous element and the 4th letter is the 
2nd preceding letter of the 4th letter of the previous 
element as per the English Alphabetical series. 
The 1st letter of each letter cluster, D + 2 = F, F +2  
= H, H + 2 = J, J + 2 = L, L + 2 = N 
The 2nd letter of each letter cluster, S-1 = R, R-1  
= Q, Q - 1 = P, P - 1 = O, O - 1 = N 
The 3rd letter of each letter cluster, W + 3 = Z, Z + 3  
= C, C + 3 = F, F + 3 = I, I + 3 = L 
The 4th letter of each letter cluster, T - 2 = R, R - 2  
= P, P - 2 = N, N - 2 = L, L - 2 = J 
So, 'NNLJ' will complete the series. 
Therefore, the complete series is: 
DSWT, FRZR, HQCP, JPFN, LOIL, NNLJ 
Hence, option b. 

34. Answer: (B) 
The logic followed here is: 
9 × 1 + 3 = 9 + 3 = 12 
12 × 2 + 5 = 24 + 5 = 29 
29 × 1 + 3 = 29 + 3 = 32 
32 × 2 + 5 = 64 + 5 = 69 
69 × 1 + 3 = 69 + 3 = 72 
72 × 2 + 5 = 144 + 5 = 149 
'149' will complete the series: 
The complete series is: 
9, 12, 29, 32, 69, 72, 149 
Hence, option b. 

35. Answer: (B) 
From figure 1 and figure 3, we get 'M' is a common 
letter. 
In clockwise direction, the sequence will be (M, J, and 
N) in figure '1'. 
In clockwise direction, the sequence will be (M, O, 
and K) in figure '2'. 
Clearly, O is opposite to J and K is opposite to N. 
From figure 1 and figure 2, we get 'M' and 'N' are 
common letters. 
In clockwise direction, the sequence will be (N, M, 
and J) in figure '1'. 
In clockwise direction, the sequence will be (N, M, 
and O) in figure '2'. 
Clearly, O is opposite to J. 
From figure 2 and figure 3, we get 'M' and 'O' are 
common letters. 
In clockwise direction, the sequence will be (M, O, 
and N) in figure '2'. 
In clockwise direction, the sequence will be (M, O, 
and K) in figure '3'. 
Clearly, K is opposite to N. 
As, there are only 5 letters shown in the above 
figures, so one of the sides of the dice is missing. 
From the above options, we can say L can be 
opposite to M as no other letters given in the option 
can be opposite to M. 
So, clearly, 'L' can be opposite to 'M'. 
Hence, option b. 

36. Answer: (B) 
The logic followed here is: 
The letters from A to E is written as '@', the letters 
from F to J is written as '#', the letters from K to O is 
written as '&' and the letters from P to T is written as 
'$'. 
As 'FIGHTER' is written as '####$@$' 

F I G H T E R 

# # # # $ @ $ 

'SOLEMN' is written as '$&&@&&' 

S O L E M N 
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$ & & @ & & 

Similarly, 
'PROMOTE' written as '$$&&&$@' 

P R O M O T E 

$ $ & & & $ @ 

As 'FIGHTER' is written as '####$@$' and 'SOLEMN' 
is written as '$&&@&&' in the same way 'PROMOTE' 
written as '$$&&&$@'. 
Hence, option b. 

37. Answer: (B)  
From [@, %, $], we get 
'@' is opposite to '$'. 
From [%, $, #], we get 
'%' is opposite to '#'. 
And '{' is opposite to '&'. 
So, '{' and '&' are opposite to each other. 
Hence, option b. 

38. Answer: (D)  
The pattern followed above is: 
The product of all the digits of the 1st number is equal 
to the 2nd number. 
In option 'A': 964: 216 
1st number = 964, 2nd number = (9 × 6 × 4) = 216 
In option 'B': 445: 80 
1st number = 445, 2nd number = (4 × 4 × 5) = 80 
In option 'C': 237: 42 
1st number = 237, 2nd number = (2 × 3 × 7) = 42 
In option 'D': 468: 196 
1st number = 468, 2nd number = (4 × 6 × 8) = 192 ≠ 
196 
All the above options follow the same pattern except 
option 'D'. 

39. Answer: (C) 
Given Equation: 176 + 4 ÷ 22 × 10 - 444 = 155 
Interchanging the digits and signs given in option 'a', 
we get: 
176 ÷22+4 × 10 - 444 = 155 
8 + 4 × 10 - 444 = 155 
8 + 40 - 444 = 155 
48 - 444 = 155 
-396 ≠ 155 
Interchanging the digits and signs given in option 'b', 
we get: 
176 + 22 ÷ 4 × 10 = 444 - 155 
176 + 5.5 × 10 = 289 
176 + 55 = 289 
231 ≠ 289 
Interchanging the digits and signs given in option 'c', 
we get: 
444 ÷ 4 + 22 × 10 - 176 = 155 
111 + 22 × 10 - 176 = 155 
111 + 220 - 176 = 155 
331- 176 = 155 
155 = 155 
Interchanging the digits and signs given in option 'd', 
we get: 
176 × 4 ÷ 22 + 10 - 155 = 444 
32 + 10 - 155 = 444 
42 - 155 = 444 
-113 ≠ 444 
So, only after interchanging the digits and signs given 
in option 'c', we can get a balance equation. 
Hence, option c. 

40. Answer: (C)  
The logic followed here is: 
-5 + 1 = -4 
-4 + 2 = -2 
-2 + 3 = 1 
1 + 4 = 5 
5 + 5 = 10 
10 + 6 = 16 
16 + 7 = 23 

23 + 8 = 31 
'1, 31' will complete the given series. 
The complete series is: 
-5, -4, -2, 1, 5, 10, 16, 23, 31 
Hence, option c. 

41. Answer: (D) 
The logic followed here is as follows: 
1) If the time is between 1 and 11 then to find the 
actual time, the given time is subtracted by 11:60. 
2) If the time is between 11 and 1 then to find the 
actual time, the given time is subtracted by 23:60. 
The time is between 1 and 11, so, the given time is 
subtracted by 11:60. 
11:60 - 04:19 = 07:41hrs 
So, the time shown on the clock is 07:41hrs. 

42. Answer: (D)  
From option 'A', 'P ÷ R + S', we get P is the father of 
R and R is the brother of S. 

 
Here, R is the brother of S. 
From option 'B', 'R + S × P', we get R is the brother of 
S and S is the daughter of P. 

 
Here, R is the brother of S. 
From option 'C', 'P × S ÷ R', we get P is the daughter 
of S and S is the father of R. 

 
Here, R is the son/daughter of S. 
From option 'D', 'S ÷ P × R', we get S is the father of 
P and P is the daughter of R. 

 
Here, R is the wife of S. 
Therefore, option 'D' shows that R is the wife of S. 

43. Answer: (B) 
The logic followed here is as follows: 
The words are coded as the sum of the place value of 
the 1st and last letter as per the English Alphabetical 
series. 
For 'HIGH': 

H I G H 

8   8 

Code = 8 + 8 = 16 
For 'VEIN': 

V E I N 
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22   14     

Code = 22 + 14 = 36 
Similarly, 
For 'TOUR': 

T O U R 

20   18      

Code = 20 + 18 = 38 
So, 'TOUR' is coded as '18'. 
As 'HIGH' is coded as '16' and 'VEIN' is coded as '36' 
in the same way 'TOUR' is coded as '38'. 
Hence, option b. 

44. Answer: (D) 
If mirror is placed to the right of the figure, 

 
Hence, option d. 

45. Answer: (A)  

 
Triangles 
are: AIL, ALH, ILH, ALB, ABH, JKL, KGH, JGM, BNC, 
GMF, CMO, CMF, MOF, CEF, CDO, CDF, DOF and 
DFE. 
So, there are 18 triangles in the given figure. 
Hence, option a. 

46. Answer: (C)  
Given statements: K = L > M; S = O ≥ C; A < Z ≤ C; S 
≤ M 
On combining, we get, 
K = L > M ≥ S = O ≥ C ≥ Z > A 
Conclusions: 
I. Z ≤ M: True (As M ≥ S = O ≥ C ≥ Z, so Z ≤ M)  
II. S > A: True (As S = O ≥ C ≥ Z > A, so S > A)  
III. K ≥ O: False (As K = L > M ≥ S = O, so K > O)  
Therefore, only conclusions I and II are true. 
Hence, option c. 

47. Answer: (B)  
We draw the following figures: 

 
Conclusions: 
I. Some Giraffe is not Zebra. This definitely follows as 
Some Giraffe, who are tall can never be Zebra. 
II. No Tall is Short. This definitely doesn't follow as it 
could or couldn't be a possibility. 
III. Some Zebra is Short. This definitely doesn't follow 
as it could or couldn't be a possibility. 
IV. Some Tall is not Zebra. This definitely follows as 
no Tall is Zebra. 
From the above figure, only conclusions I and IV 
follow. 
Hence, option b. 

48. Answer: (B) 
From statement I alone, only one person sits between 
L and N. K doesn't sit immediate left of L. We get: 

 
So, K sits immediate left of N. 
From statement II alone, L sits third to the right of K. 
M sits second to the right of K. We get: 

 
So, K sits immediate left of N. 
Therefore, data in either statement I alone or 
statement II alone is sufficient to answer the question. 
Hence, option b. 

49. Answer: (D) 
After cutting and unfolding the paper, we get: 

 
Hence, option d. 

50. Answer: (B)  
The folowing arrangement can be drawn form the 
given statements: 

 
So, her destination is in north-west direction with 
respect to the point she started. 

General Awareness  

51. Answer: (B) 
The Ramakrishna Mission is a Hindu religious and 
spiritual organization. The mission was created 
on May 1, 1897, by Ramakrishna Paramahamsa's 
principal follower Swami Vivekananda. 
The organization primarily promotes Advaita Vedanta, 
a Hindu philosophy, as well as four yogic 
ideals: Jnana, Bhakti, Karma, and Raja yoga. 
The Ramakrishna Mission stressed the ideal 
of salvation through social service and selfless 
action. 
Ramakrishna Paramhansa (1834-86) 
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· He was priest at the Kali Temple in Dakshineswar, 
near Calcutta. 
· He denounced religious particularism and supported 
religious universalism. 
· He recognised Truth in all religions and preached 
that Hinduism, Christianity and Islam were the 
different paths that led to the same god. 
· He recognised Idol Worship but emphasis on 
intention and spirit and not symbols and rituals. 
· He had great compassion for human suffering and 
taught his disciples - Yatra Jiv, Tatra Shiv (wherever 
there is living being, there is a Shiva). 
· However, Ramakrishna's main stress remained 
on religious salvation rather than social salvation 

52. Answer: (D) 
Black soils known locally as regur black cotton soil. 
Black soils are derivatives of trap lava and are spread 
mostly across interior Gujarat, Maharashtra, 
Karnataka, and Madhya Pradesh on the Deccan lava 
plateau and the Malwa Plateau. 
Black soil is mature soil and most of the Deccan is 
occupied by this soil. 

53. Answer: (D) 
Visa, the cards payment company, has introduced 
a Cardholder Verification Value (CVV) free online 
transactions for domestic tokenised credentials in 
India. This feature has allowed the merchants only to 
verify the three-digit CVV once when tokenising the 
card, thus eliminating the need for customers to enter 
it for every domestic transaction. 

54. Answer: (C)  
Article 46: Promotion of educational and economic 
interests of scheduled castes, scheduled tribes, and 
other weaker sections. 
Article 335: Claims of Scheduled Castes and 
Scheduled Tribes to Services and Posts. 
As per Article 338-A of the Constitution of India, 
the National Commission for Scheduled 
Tribes has been set up. 

55. Answer: (C) 
Murshid Quli Khan was the founder of 
the Bengal state. Murshid Quli Khan was born in 
Deccan in 1670 as Surya Narayan Mishra, a Hindu. 
Murshid Quli Khan, also known as Mohammad Hadi 
and born Surya Narayan Mishra, was Bengal's first 
Nawab, reigning from 1717 until 1727. 
Around the year 1700, Aurangzeb appointed Quli 
Khan as Diwan of Bengal. 
Murshid Quli Khan and his successor Nawabs ruled 
as autonomous monarchs in Bengal, Bihar, and 
Odisha, yet they continued to provide income to the 
Mughal emperor on a regular basis. 

56. Answer: (D) 
The United Nations Development Programme 
(UNDP) has signed a Memorandum of Understanding 
(MoU) with The Ocean Cleanup to eliminate plastic 
pollution in the world's oceans and rivers. 
The aim is to decrease plastic leakages into marine 
ecosystems by promoting policies and behavioural 
changes intended to advance effective plastic waste 
management systems and decrease overall plastic 
pollution. 

Established 1966 

Headquarters New York, USA 

Administrator Achim Steiner 

57. Answer: (C)  
Harry Hess was a geologist who is considered one of 
the "founding fathers" of the unifying theory of plate 
tectonics. 
The theory of plate tectonics is based on a broad 
synthesis of geologic and geophysical data. 

Supporting Wegener's theory of continental 
drift, Hess explained how the once-joined continents 
had separated into the seven that exist today. The 
continents don't change dramatically or move 
independently but are transported by the shifting 
tectonic plates on which they rest. 
Harry Hess published 'The History of Ocean 
Basins' in 1962, outlining a theory of how tectonic 
plates can move which was later called 'sea floor 
spreading'. 

58. Answer: (D)  
The Byopa is traditionally worn by tribals 
of Arunachal Pradesh.The Nyishi community is the 
largest ethnic group in Arunachal Pradesh in north-
eastern India. The Byopa (headgear) - beak and 
feather of a hornbill atop a cane cap, is quite famous 
in Arunachal Pradesh. 
The twelve tribes listed are: Adi (Abor), Aka (Hruso), 
Apatani, Nyishi, Tagin, Galo, Khampti, Mishmi, 
Momba (Monpa), "any Naga tribes", Sherdukpen, 
Singpho. 

59. Answer: (D)  
A xenograft is a type of tissue graft that involves 
transplanting tissue or an organ from a donor of one 
species to a recipient of another species. 
For example, a pig heart valve transplanted into a 
human recipient would be considered a xenograft. 

60. Answer: (D) 
Sarvodaya is a term meaning 'Universal Uplift' or 
'Progress of All'. The term was first coined by 
Mohandas Gandhi as the title of his 1908 translation 
of John Ruskin's tract on political economy, "Unto 
This Last", and Gandhi came to use the term for the 
ideal of his own political philosophy. It also gives the 
meaning 'good of all', 'service to all' and 'welfare of 
all', etc. 
Mahatma Gandhi first used the word Sarvodaya in 
modern times. Etymologically speaking, Sarvodaya 
means 'the rise or welfare of all'. 

61. Answer: (A)· 
Madhavpur Fair is a vibrant cultural event celebrated 
annually in Madhavpur village of Porbandar 
District, Gujarat. 
· Madhavpur Ghed village is the place where, 
according to folklore, Lord Krishna married Rukmini, 
the daughter of King Bhishmaka. 
· This event is commemorated by a cultural fair held 
every year, commencing on Ram Navami. 

62. Answer: (D)  
National Agriculture Extension Project 
The National Agriculture Extension Project (NAEP) 
was started during the year 1982-83. It is a nodal 
agency for providing training and updating the 
knowledge and skills of field extension functionaries 
of the Karnataka State Department of Agriculture and 
other line departments. 
The project was national in scope but focused 
primarily on communal areas farmed by small-scale 
farmers. 
The Extension Coordinator along with resource 
scientists identified under the core team participate in 
these programs. 

63. Answer: (C)  
Constitutional provision related to Language: 
§ Article 29 of the Constitution of India protects the 
interests of minorities. The Article states that any 
section of the citizens who have a "..distinct language, 
script or culture of its own shall have the right to 
conserve the same." 
§ Article 343 is about the official language of the 
Union of India. According to this Article, it is to be 
Hindi in Devnagri script, and numerals should follow 
the international form of Indian numerals. This Article 
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also states that English will continue to be used as an 
official language for 15 years from the 
commencement of the Constitution. 
§ Article 346 is about the official language for 
communication between the states and between a 
state and the Union. The Article states that the 
"authorised" language will be used. However, if two or 
more states agree that their communications shall be 
in Hindi, then Hindi may be used. 
§ Article 347 gives the President the power to 
recognise a language as an official language of a 
given state, provided that the President is satisfied 
that a substantial proportion of that state desires that 
the language be recognised. Such recognition can be 
for a part of the state or the whole state. 
§ Article 350A facilities for instruction in mother-
tongue at the primary stage. 
§ Article 350B provides for the establishment of a 
Special Officer for linguistic minorities. The Officer 
shall be appointed by the President and shall 
investigate all matters relating to the safeguards for 
linguistic minorities, reporting directly to the President. 
The President may then place the reports before each 
house of the Parliament or send them to the 
governments of the states concerned. 
§ Article 351 gives power to the union government to 
issue a directive for development of the Hindi 
language. 
§ Eighth Schedule of the Constitution of India 
contains a list of 22 languages recognised schedule 
languages. 

64. Answer: (D)  
pH Value is a measure of acidity or basicity of a 
solution. pH Scale is used to measure pH value. It 
consists of value from 0 to 14. It is 7 for neutral 
solution and greater than 7 for basic solution and less 
than 7 for acidic solution. 
Urine is a light yellow-colored fluid and slightly acidic 
in nature. The average value for urine pH in humans 
is 6. 

Name of the liquid pH value 

Battery acid 1.0 

Gastric juice 1.0 - 3.0 

Lemon 2.2 - 2.4 

Vinegar 2.0 - 3.0 

Wine 2.8 

Tomato 4.0- 4.5 

Bear 4.5 

Acid Rain < 5.5 

Urine (human) 6.0 

Rain water 6.0 

Cow milk 6.3-6.6 

Saliva(human) 6.5 - 7.4 

Water 7.0 

Blood (human) 7.30 - 
7.40 

Tears 7.4 

Sea water 8.4 

Milk of magnesia 10.5 

65. Answer: (A) 
The Swarna Jayanti Swarozgar Yojna (SGSY) has 
been renamed as National Rural Livelihood Mission 
(NRLM), now renamed as 'Ajeevika' to implement it in 
a mission mode in a phased manner for targeted and 
time-bound delivery of results. 
The scheme focuses on the promotion of self-
employment and the organization of the rural poor. 
NRLM is a poverty alleviation project implemented by 
the Ministry of Rural Development, Government of 
India. 

66. Answer: (A) 

The Palaeolithic Period, also known as the Old Stone 
Age, was the time period in which humans first began 
to use stone tools. It is divided into three phases: 
· Lower Palaeolithic Age: 500,000 B.C. and 50,000 
BC 
· Middle Palaeolithic Age: 50,000 BC - 40,000 BC 
· Upper Palaeolithic Age: 40,000 BC - 10,000 BC 
Major sites: Narmada Valley of Madhya Pradesh, 
Didwana in Rajasthan, Nevasa in Maharashtra, 
Mirzapur in Uttar Pradesh and Bakunda and Puraliya 
in West Bengal, Chittoor in Kerala, etc. 
Langhnaj in Gujarat is a Mesolithic site. 

67. Answer: (D)  
National Agriculture Bank for Agriculture and Rural 
Development (NABARD) is the apex institution to 
provide finance for agriculture and rural 
development. It was established on 12 July 1982 
through Act 61 of 1981 of the Parliament. NABARD 
produces refinance for agriculture and rural 
development. 
NABARD was established during the Sixth Five Year 
Plan in July 1982. Its headquarters is in Mumbai. 

68. Answer: (C)  
Blood cells are made in the bone marrow. The bone 
marrow is the soft, spongy material in the center of 
the bones. Bone marrow is the tissue comprising the 
center of large bones. It is the place where new blood 
cells are produced. Bone marrow contains two types 
of stem cells: hemopoietic (which can produce blood 
cells) and stromal (which can produce fat, cartilage 
and bone). 

69. Answer: (B) 
The Constitution of India 1949 provides the right to 
freedom, given in Article 19 with the view of 
guaranteeing individual rights that were considered 
vital by the framers of the constitution. The right to 
freedom in Article 19 guarantees the freedom of 
speech and expression, as one of its six freedoms. 

70. Answer: (A) 
The day is celebrated on July 28 in honor of the 
birthday of Nobel laureate Baruch Samuel 
Blumberg, who discovered the hepatitis B virus and 
even created a diagnostic test and vaccination for it. 

71. Answer: (C) 
The Earth's atmosphere is divided into several layers 
and each layer plays an important role. The layer 
extending about 10-50 km is called the stratosphere. 
The Ozone layer is mainly found in 
the Stratosphere from approximately 15 to 30 km 
above the Earth's surface. 
The ozone layer protects the Earth from the sun's UV 
rays. 10% of the ozone layer is found in the 
troposphere and 90% in the stratosphere. 

72. Answer: (C) 
Habitat loss is one of the biggest threats to 
biodiversity. Natural habitat destruction is the main 
reason for the decrease in biodiversity as the 
transformation of the natural areas determines not 
only the loss of the plant species but also a decrease 
in the animal species associated with them. 
Biodiversity has maximum danger from the 
Destruction of natural habitats and vegetation. 

73. Answer: (D) 
Eggshell is made almost entirely of calcium 
carbonate crystals. 
Eggshell is a semipermeable membrane, which 
means that air and moisture can pass through its 
pores. The shell also has a thin outermost coating 
called the bloom or cuticle that helps keep out 
bacteria and dust. 
Calcium carbonate is a chemical compound with the 

formula CaCO₃. It is a common substance found in 
rocks as the minerals calcite and aragonite and is the 
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main component of eggshells, gastropod shells, 
shellfish skeletons and pearls. 

74. Answer: (B) 
The Chief Justice and Judges of the High Courts are 
to be appointed by the President under clause (1) of 
Article 217 of the Constitution. 
The Chief Justice of India is the chief judge of the 
Supreme Court of India as well as the highest-ranking 
officer of the Indian Judiciary. 

75. Answer: (B) 
The Modern Coach Factory (MCF) Stadium in 
Raebareli, Uttar Pradesh, has been renamed 
the 'Rani's Girls Hockey Turf' in honour of former 
captain of the Indian women's hockey team Rani 
Rampal. 
With this, Rani Rampal has become the first Indian 
woman hockey player to have a stadium named 
after her. 
· She was awarded Rajeev Gandhi Khel Ratna (now 
Major Dhyan Chand Khel Ratna) and Padma Shree 
awardee in 2020. 
· She was the 1st woman hockey player to receive the 
Rajeev Gandhi Khel Ratna Award. 
· She has played over 250 international matches for 
India since making her senior debut in 2009. 

English Language 

76. Answer: (C)  
(c) is the right answer. COMMEND means to praise 
someone officially. REBUKE (express disapproval) 
will be its antonym. 
Depart - leave. Delay - slow down. Praise - 
compliment. 

77. Answer: (B) 
he error is in part B of the sentence. The present 
participle verb INTERRUPTING should be replaced 
with its past participle form INTERRUPTED, as the 
passive voice construction WAS + VERB takes the 
past participle form of the verb. 
Thus, B is the right answer. 
The use of present participle conveys the meaning 
that the cross-examination was interrupting, which is 
illogical because cross-examination is an activity. It 
cannot interrupt someone or something. 

78. Answer: (C)  
(c) is the right answer. EXAGGERATE means to over 
emphasise something than it really is. AMPLIFY 
(increase in magnitude) will be its synonym. 
Exert - apply. Imply - hint. Accentuate - make 
something more prominent. 

79. Answer: (A) 
The word INEVITABLE means certain to happen and 
cannot be avoided. The word AVOIDABLE means 
able to be prevented or avoided and expresses the 
opposite meaning of the given word. 
Thus, A is the right answer. 
CONSTANT - occurring continuously over a period of 
time. 
EXTREME - reaching a high or the highest degree. 
VAGUE - uncertain or unclear. 

80. Answer: (A)  
We need a verb in base form to fit in TO + VERB 
infinitive construction. ENCOUNTER (come face to 
face with) will fit here as the sentence talks about how 
dozens of media outlets have had to face the public 
who did not trust them. Thus, A is the right answer. 
Elope - run away. Entice/ allure - attract. 

81. Answer: (A) 
We need an adjective to modify the noun WORK 
ETHIC. The sentence seeks to convey that the team 
was successful because they always maintained the 

same work ethic. CONSISTENT (acting or doing 
things the same way over time) fits here. 
Thus, A is the right answer. 
UNCONVENTIONAL - not based on or conforming to 
what is generally done or believed. 
MEDIOCRE - of only average quality. 
HAPLESS - unfortunate. 

82.  Answer: (C)  
We need a noun to be modified by the adjective 
EXCELLENT. The sentence seeks to convey that the 
day is an excellent occasion for spending quality time 
with friends. OPPORTUNITY (an occasion or chance 
to do something) will fit here. 
Thus, C is the right answer. 
The rest of the options are contextually incorrect. 
INSPECTION - careful examination. 
NEGOTIATION - discussion to reach an agreement. 
AWARENESS - knowledge of a situation or fact. 

83. Answer: (B) 
We need the past participle form of the verb to 
complete the passive voice structure WAS + VERB. 
The sentence seeks to convey that the first Sunday of 
August was chosen as National Friendship Day. 
SELECTED (chosen in preference to others) will fit 
here. 
Thus, B is the right answer. 
The rest of the options are contextually incorrect. 
PLEASED - made someone happy and satisfied. 
WASTED - used carelessly or more of something 
than is necessary. 
MIGRATED - moved from one place to another. 

84.  Answer: (A) 
We need a noun to form the object of the preposition 
INTO. The sentence seeks to convey that June 8 
came to be recognised as National Best Friends Day. 
EXISTENCE (the state of being real or recognised) 
will fit here. 
Thus, A is the right answer. 
The rest of the options are contextually incorrect. 
RETALIATION - an act of revenge. 
COMPETITION - a situation in which people try to be 
more successful than others. 
OBLIGATION - something that one must do. 

85.  Answer: (D) 
We need an adjective to be modified by the adverb 
WELL. The sentence seeks to convey that the day 
was not well recognised by people, or we can say that 
people were not familiar with the day. KNOWN 
(generally recognised) will fit here. 
Thus, D is the right answer. 
The rest of the options are contextually incorrect. 
ARGUED - disagreed. 
FASCINATED - attracted or interested someone. 
REQUESTED - politely asked for something. 

86.  Answer: (B) 
We need the base form of a verb to come after the 
plural noun PEOPLE, as the sentence states a fact. 
The sentence seeks to convey that people take part 
in a variety of activities. PARTICIPATE (to take part in 
an activity) will fit here. 
Thus, B is the right answer. 
The rest of the options are contextually incorrect. 
TRANSFORM - to change in form, appearance, or 
structure. 
RETAIN - to keep or continue to have something. 
INHERIT - to receive money or property from 
someone who has died. 

87. Answer: (B) 
The idiom LET THE CAT OUT OF THE BAG means 
to reveal a secret. 
Thus, B is the right answer. 

88. Answer: (B)  
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The sentence is in active voice and in the present 
perfect tense (HAVE CONVINCED). Follow the rules 
below to convert a sentence to passive voice: 
I. The subject clause will become the object clause. 
Here, the subject THE YOUNG LAD will change to 
the object, and the object THE RICH WIDOW, will 
change into the subject and begin the sentence. 
II. Replace HAVE CONVINCED with HAVE BEEN 
CONVINCED. The passive voice construction for the 
present perfect tense is "HAS/HAVE + BEEN + past 
participle". 
III. Add the conjunction BY before THE YOUNG LAD 
to link the verb with its object. 

89. Answer: (D) 
The idiom OUT OF THE WOODS means to no longer 
be in danger or difficulty. Thus, D is the right answer 

90. Answer: (B)  
HELD BACK (to restrain) will fit here as the sentence 
tells us how the speaker restrained his anger during 
the episode. 
Held on - waited. Held up - delayed. Held off - to 
block or come in the way. 

91. Answer: (C) 
We need a phrase that can highlight the action of 
considering or thinking about the possibility of building 
the shopping centre. LOOKING AT (considering or 
thinking about something) can replace the bold 
phrase in the sentence. Thus, C is the right answer. 
LOOKING TO - hoping for help or advice from 
someone. 
LOOKING UP TO - respecting or admiring someone. 
LOOKING AFTER - taking care of something or 
someone. 

92. Answer: (C) 
The correct spelling of the given word is 
INNUMERABLE (too many to be counted). 
Thus, C is the right answer. 

93. Answer: (C)  
The sentence is in direct speech. To convert this 
sentence to indirect speech, follow these rules: 
I. Remove the comma and the inverted commas. 
II. Begin the indirect speech sentence with the 
reporting speech clause KAVYA TOLD HIM. 
III. Put THAT between the reporting and reported 
speeches. 
IV. Change the first person pronoun I to the third 
person pronoun SHE. 
V. Change the present continuous (AM GOING) to 
past continuous (WAS GOING). 
VI. Use the following syntax: Reporting speech clause 
(KAVYA TOLD HIM) +THAT+ Subject (SHE) + verb 
clause (WAS GOING) + Object (TO TELL THE 
MANAGER). 

94. Answer: (B) 
QSPR is the correct sequence. Q begins the passage 
by introducing the topic - tea leaves. S follows S by 

telling us what happens when the tea leaves are 
brewed. P further elaborates on the process. R 
concludes the passage by describing how a stain is 
formed. Thus, B is the right answer. 

95. Answer: (D)  
The sentence is in direct speech. Follow the 
instructions to change the sentence to indirect 
speech: 
I. Remove the comma and inverted commas. 
II. SAID TO will be replaced by TOLD. Add THAT 
after the reporting speech clause, "MOHAN TOLD 
ME." 
III. The present perfect tense verb HAVE BEEN 
PREPARING will change to the past perfect tense 
verb HAD BEEN PREPARING. 
IV. The first person pronoun I will change to the third 
person pronoun HE. 

96. Answer: (A) 
A NOVICE is a person who is new to or 
inexperienced in a job or situation. Thus, A is the right 
answer. 
VETERAN - a person who has had long experience in 
a particular field. 
CONNOISSEUR - an expert judge in matters of taste 
or quality. 
AFICIONADO - a person who is very knowledgeable 
and enthusiastic about an activity, subject, or 
pastime. 

97. Answer: (A) 
We need a phrase that can highlight the action of 
connecting the speaker to a senior manager by 
phone. PUT THROUGH (to connect somebody to 
another person on the telephone) can replace the 
bold phrase in the sentence. Thus, A is the right 
answer. 
Put somebody up to something - to encourage 
someone to do something bad. 
Put someone down - to criticise someone. 
Put someone off - to distract someone. 

98. Answer: (B) 
UNANIMOUS means in complete agreement. Thus, B 
is the right answer. 
UBIQUITOUS - existing or found everywhere. 
UTOPIA - a perfect society. 
UNAVOIDABLE - not able to be prevented. 

99. Answer: (D)  
The correct spelling of the word is DUPLICITOUS 
(dishonest). 
Diaphanous - transparent. Ambiguous - having many 
interpretations. Amicable - friendly. 

100. Answer: (C) 
In C, replace the plural form verb BECOME with 
BECOMES as we need a singular verb to agree with 
the singular subject pronoun SHE. Thus, C is the right 
answer. 
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            उम्मीदवारो ों को निदेश   

प्रश्ो ों को हल करिे से पहले निम्ननलखित निदेशो ों को ध्याि से पढ़ें। 

(1) इस पुस्तिका में 100 प्रश् हैं, जो कक कुल 4 भागो ों में किभाकजत हैं। 

 भाग -(I)   : Quantitative Aptitude     (25 प्रश्) 

भाग -(II)  : Reasoning Aptitude     (25 प्रश्) 

भाग -(III) : General Studies      (25 प्रश्) 

 भाग -(IV) : English Language      (25 प्रश्) 

(2) सभी प्रश्न अकििार्य हैं तथा सबके बराबर अंक हैं। 

(3) प्रश्नो ंको हल करिा प्रारम्भ करिे से पहले आपको इस पुस्तिका की जांच करिी चाकहए और र्ह सुकिकित करिा चाकहए कक इसमें सभी पृष्ठ 

उपस्तथथत हैं और कोई पृष्ठ कम र्ा बदला हुआ िही ंहै। अगर आपको इस पुस्तिका में कोई दोष कमलता है, तो आपको तुरंत इसे बदलिा 

होगा। 

(4) प्रते्यक प्रश् में िकारात्मक अोंकि होता है क्ोोंनक प्रते्यक गलत उत्तर के नलए 0.5 अोंक काट नदया जाएगा। 

(5) आपको किरीक्षक द्वारा उत्तर पुस्तिका अलग से दी जाएगी। आपको प्रश्नो ंको हल करिा प्रारम्भ करिे से पहले अपिा िाम , रोल िंबर, टेस्ट 

िाम /पुस्तिका पर सािधािीपूियक पूरा-आईडी और/परीक्षा का िाम उत्तर  करिा होगा। आपको उत्तर -पुस्तिका में किधायररत थथाि पर 

अपिा हिाक्षर भी करिा होगा। इि किदेशो ंका पूरी तरह से पालि ककर्ा जािा चाकहए, कजसको ि करिे पर आपकी उत्तर -पुस्तिका का 

मूल्ांकि िही ंककर्ा जाएगा और आपको  ‘शून्य‘ अोंक कदर्ा जाएगा। 

(6) उत्तर केिल पेंनसल या बै्लक  /बू्ल बॉल पेि  द्वारा उत्तर -  पुस्तिका प्रासंकगक प्रश्न संख्या के समं्बकधत गोले को पूरी तरह से बै्लक करके 

कदखार्ा जािा चाकहए। 

(7) OMR उत्तर पुस्तिका को एक मशीि द्वारा जांचा जारे्गा। र्कद ककसी स्तथथकत में उपलब्ध जािकारी, आिेदि पत्र में दी गर्ी जािकारी से 

अलग पार्ी गर्ी, तो आिेदक का आिेदि किरि कर कदर्ा जारे्गा।  

(8) किरीक्षक की अिुमकत कमलिे के बाद ही कोई परीक्षा कक्ष छोड़ सकता है। 

(9) उपरोक्त में से ककसी भी किदेश का अिुपालि करिे में किफल उम्मीदिार को उपरु्क्त कार्यिाही /जुमायिा के कलए उत्तरदार्ी समझा जा 

सकता है।   

(10)  कजतिी जल्दी हो सके उतिी जल्दी और सािधािी से प्रश्नो ंका उत्तर दें। कुछ सिाल ककिि हो सकते हैं और दूसरे आसाि हो सकते हैं। 

ककसी भी प्रश्न पर ज्यादा समर् िही ंकबताएं।  

(11)  मोबाइल फोि और िार्रलेस संचार उपकरण, परीक्षा कक्ष /कमरे में पूरी तरह से प्रकतबंकधत  हैं। कोई भी आिेदक अपिे मोबाइल का र्ा 

ककसी िार्रलेस संचार उपकरण को बंद करके भी अपिे पास िही ंरख सकता। किर्म का उलं्लघि करिे पर आिेदक के किरूद्ध उकचत 

कार्यिाही की जारे्गी और उसका आिेदि भी किरि ककर्ा जा सकता है। 

(12)  उत्तर-पत्र पर कोई रफ काम िही ंककर्ा जािा चाकहए। 

(13)  कोई भी उम्मीदिार परीक्षा पूरा होिे से पहले परीक्षा कक्ष िही ंछोड़ सकता है। 

        

जब तक आपको यह परीक्षण पुखिका िोलिे को ि कहा जाए तब तक ि िोलें । 

  

टेस्ट फॉमम िोंबर 
अनिकतम अोंक  : 200 

कुल प्रश्    : 100 

नििामररत समय  : 60 नम.   

परीक्षार्थी का िाम:...................................................... 

नदिााँक:............... परीक्षा कोड ................................... 

अिुक्रमाोंक:.................................................................. 

 

 

Maximum Marks : 100 

Total Questions : 100 

 

 

Maximum Marks : 100 

Total Questions : 100 

Time Allowed :   90 Min. 
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Quantitative Aptitude  

1. 'A' अकेले ककसी कार्य के 50% भाग को 20 कदिो ंमें कर 

सकता है। 'B' अकेले 24 कदिो ंमें 40% कार्य कर सकता 

है। र्कद िे एक साथ कार्य करते हैं तो उन्हें 75% कार्य को 

पूरा करिे में ककतिा समर् लगेगा? 

(A) 24 कदि  (B) 15 कदि 

(C) 18 कदि  (D) 30 कदि 

 

2. दो िृत्तो ंकी कत्रज्याएँ 12 सेमी और 5 सेमी हैं और उिके 

कें द्ो ं के बीच की दूरी 25 सेमी है। दोिो ं िृत्तो ं की सीधी 

उभर्किष्ठ स्पशयरेखा की लंबाई ज्ञात कीकजए। 

(A) 32 सेमी  (B) 24 सेमी 

(C) 36 सेमी  (D) 30 सेमी 

 

3. ककसी समस्या को हल करिे िाले तीि छात्रो ंकी संभाििा 

(4/9) , (3/8) और (17/25) है। समस्या के हल होिे की 

संभाििा क्या है? 

(A) (5/8)   (B) (2/3)  

(C) (7/9)   (D) (8/9)  

 

4. सूरज िे अंककत मूल् पर 40% छूट पर एक ििु खरीदी 

और अंककत मूल् पर 25% छूट देिे के बाद उसे बेच 

कदर्ा। उसका लाभ प्रकतशत ज्ञात कीकजए। 

(A) 15%  (B) 25% 

(C) 20%   (D) 7.5% 

 

5. ΔABC 'B' पर इस प्रकार समकोण है कक cot C = (8/15) 

है, तो sec C + tan A - cosec C बराबर होगा: 

(A) 61/47  (B) 63/40 

(C) 63/47  (D) 61/40 

 

6. िीचे दी गई ताकलका 5 अलग-अलग िषों के दौराि एक 

किके्रता द्वारा बेचे गए फोिो ंकी संख्या दशायती है। ताकलका 

को ध्याि से पक़िए और िीचे कदए गए प्रश्नो ंके उत्तर दीकजए: 

िषय बेचे गए फोिो ंकी संख्या 

2015 500 

2016 750 

2017 600 

2018 550 

2019 600 

कदए गए ककतिे िषों के दौराि, किके्रता द्वारा बेचे गए फोि 

की संख्या सभी कदए गए पांच िषों के दौराि बेचे गए फोि 

की कुल संख्या के 20% से अकधक थी? 

(A) 3   (B) 2 

(C) 1   (D) 0 

 

7. एक राकश को जब 8.4% प्रकतिषय साधारण ब्याज पर 4.5 

साल के कलए कििेश ककर्ा जाता है तो िह संचकर्त होकर 

Rs. 27,560 हो जाती है। अकजयत ब्याज ज्ञात कीकजए र्कद 

समाि राकश को 8% प्रकतिषय के साधारण ब्याज पर 2.5 

साल के कलए कििेश ककर्ा जाता है। 

(A) Rs. 5,000  (B) Rs. 4,000 

(C) Rs. 6,000  (D) Rs. 10,000 

 

8. a3 + b3 - c3 + 3(a + b) (b - c) (a - c) का माि क्या है? 

 

(A) (a + b - c) 3  (B) (a + b + c) 3 

(C) (a - b - c) 3  (D) (a - b + c) 3 

 

9. किम्नकलस्तखत में से 
1+tan⁡ 𝐴

1−tan⁡ 𝐴
 ककसके बराबर है (जहाँ θ ≠ 

𝜋

2
) : 

(A) 
(cos⁡ 𝐴+sin⁡ 𝐴)⁡

(sin⁡ 𝐴−cos⁡ 𝐴)⁡
   (B) 

(sin⁡ 𝐴+cos⁡ 𝐴)⁡

(cos⁡ 𝐴−sin⁡ 𝐴)⁡
  

(C) 
(sin⁡ 𝐴−cos⁡ 𝐴)⁡

(cos⁡ 𝐴−sin⁡ 𝐴)⁡
   (D) 

(cos⁡ 𝐴−sin⁡ 𝐴)⁡

(sin⁡ 𝐴+cos⁡ 𝐴)⁡
  

 

10. र्कद ककसी ििु को बेचिे पर अकजयत लाभ उसके किक्रर् 

मूल् का (3/5) िां भाग है तो लाभ प्रकतशत ज्ञात करें। 

(A) 100%  (B) 75% 

(C) 150%  (D) 300% 

  

11. िीचे दी गई ताकलका ककसी कदए गए सप्ताह के 5 कदिो ंमें 

एक दुकाि द्वारा बेची गई गाजर और मूली की संख्या का 

र्ोग तथा बेची गई गाजर की संख्या और मूली की संख्या 

के अिुपात को दशायती है। 

कदि बेची गई गाजर 

और मूली की 

संख्या का र्ोग 

बेची गई गाजरो ंकी संख्या 

और बेची गई मूकलर्ो ंकी 

संख्या का अिुपात 

1 320 3:5 

2 270 7:8 

3 360 1:2 

4 315 10:11 

5 360 5:4 

कदि 1, 3 और 5 में कमलाकर बेची गई गाजर की संख्या का 

र्ोग ज्ञात कीकजए। 

(A) 500   (B) 420 

(C) 380   (D) 440 

 

12. 'A' की ितयमाि आरु् 'B' की ितयमाि आरु् से 20% अकधक 

है। र्कद उिकी ितयमाि आरु् के बीच का अंतर 5 िषय है तो 

'C' की ितयमाि आरु् ज्ञात कीकजए र्ह कदर्ा गर्ा है कक िह 

'A' से 18 िषय बड़ा है। 

(A) 48 िषय  (B) 40 िषय 

(C) 32 िषय  (D) 36 िषय 

 

13. िीचे कदर्ा गर्ा रेखा ग्राफ छह महीिे में एक कंपिी द्वारा 

बेचे गए दो ब्ांडो ंर्ािी HP और Dell के लैपटॉप की संख्या 

दशायता है। ग्राफ को ध्यािपूियक प़िें  और िीचे कदए गए प्रश्न 

का उत्तर दें। 

 

250

160

280

210

350

230

360

280

350

275

425
400

Jan Feb March April May June

Number of HP laptops sold

Number of Del laptops sold
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फरिरी, अपै्रल और जूि में बेचे गए HP लैपटॉप की कुल 

संख्या तथा जििरी, अपै्रल और मई में बेचे गए Dell 

लैपटॉप की कुल संख्या का अिुपात है: 

(A) 10:17  (B) 30:53 

(C) 17:10  (D) 53:30 

 

14. र्कद x:y = 12:7 और (x + y) = 57 है तो [(𝑥 + 4𝑦) ∶

{8(𝑥 − 𝑦)⁡}] का माि ज्ञात कीकजए: 

(A) 3:4   (B) 4:5 

(C) 3:2   (D) 1:1 

 

15. एक चुिाि में तीि उम्मीदिारो ं 'A', 'B' और 'C' िे भाग 

कलर्ा। 'A' को 'B' से 30% अकधक िोट कमले और 'C' को 

'B' से 70% अकधक िोट कमले। 'C' िे 'A' को 2700 िोटो ंसे 

पीछे छोड़ कदर्ा। र्कद मतदाि सूची के सभी मतदाताओ ंिे 

अपिा िोट डाला, हालांकक डाले गए िोटो ंमें से 10% को 

अमान्य घोकषत कर कदर्ा गर्ा तो मतदाि सूची में 

मतदाताओ ंकी संख्या ककतिी थी? 

(A) 28000  (B) 24000 

(C) 27000  (D) 30000 

 

16. 3/4, 2/5 & 7/12 का LCM ___ है। 

(A) 42   (B) (84/45)  

(C) (455/60)   (D) (235/60)  

 

17. पाइप 'A' अकेले 18 कमिट में एक टैंक का 75% भर 

सकता है। पाइप 'A' और 'B' को साथ में खोलिे पर खाली 

टैंक को भरिे में 33 कमिट का समर् लगता है। पाइप 'B' 

द्वारा अकेले टैंक को खाली करिे में कलर्ा गर्ा समर् ज्ञात 

कीकजए। 

(A) 88 कमिट  (B) 90 कमिट 

(C) 72 कमिट  (D) 96 कमिट 

 

18. एक िोस घिाभ की (cuboidal) बॉक्स की लंबाई और 

चौड़ाई 12 सेमी और 9 सेमी है और आर्ति 864 

सेमी3 है। इस घिाभ की बॉक्स और 10 सेमी की लंबाई 

िाले एक घिाकार बॉक्स के समू्पणय पृष्ठीर् के्षत्रफल में 

अंतर ज्ञात कीकजए। 

(A) 36 सेमी2  (B) 64 सेमी2 

(C) 48 सेमी2  (D) 80 सेमी2 

 

19. एक व्यस्तक्त िे 8% प्रकत िषय के साधारण ब्याज पर एक 

किकित धिराकश उधार दी जहाँ 15 िषय के अंत में उसके 

द्वारा प्राप्त ब्याज उधार दी गई राकश से Rs. 750 से अकधक 

है। उधार दी गई राकश ज्ञात कीकजए। 

(A) Rs. 2,680  (B) Rs. 3,750 

(C) Rs. 2,750  (D) Rs. 3,350 

 

20. 78 ग्राम 3 ककलोग्राम का ककतिा प्रकतशत है? 

(A) 2.6%  (B) 3.4% 

(C) 26%   (D) 0.26% 

 

21. िीचे कदए गए समलंब ABCD में, AB = 18 सेमी, CD = 

12 सेमी और 'P' AC का मध्य कबंदु है और 'Q' BD का 

मध्य कबंदु है। PQ की लंबाई ज्ञात कीकजए। 

 
(A) 15 सेमी  (B) 12 सेमी 

(C) 14 सेमी  (D) 16 सेमी 

 

22. कदए गए समीकरण का सरलीकृत माि ज्ञात कीकजए: 

5
3

7
× 2

3

9
+ 3

2

5
÷ 8

1

2
×

1

2
÷ [2

3

5
− 1

1

4
]  

(A) (123/29)   (B) (237/29)  

(C) (346/27)   (D) (124/27)  

 

23. जमीि पर एक कबंदु 'P' से, 60 मीटर ऊँचे झंडे के खंभे के 

शीषय का उन्नर्ि कोण 30o है। झंडे के खंभे के पाद और 

कबंदु 'P' के बीच की दूरी ज्ञात कीकजए। 

(A) 60√3 मीटर   (B) 20 मीटर  

(C) 20√3 मीटर   (D) 30√2 मीटर  

 

24. 200 के 220% का 135%, 750 के ककतिे प्रकतशत के 

बराबर है? 

(A) 82.4%  (B) 79.2% 

(C) 74.6%  (D) 81.8% 

 

25. र्कद (x - a) (x - b) = 1 और (a - b + 8) = 0 है तो : 

(x - a) 3 - 
1

(𝑥−𝑎)⁡3
 का माि ज्ञात करें : 

(A) 536   (B) 654 

(C) 424   (D) 585 

Reasoning Aptitude 

26. उस किकल्प का चर्ि करें  जो कदए गए शब्ो ंके सही क्रम 

का प्रकतकिकधत्व करता है जैसे िे अंगे्रजी शब्कोश में 

कदखाई देंगे। 

1- Mission  2- Millennium 

3- Mineral  4- Misfortune 

5- Mistake 

(A) 3, 2, 1, 4, 5  (B) 2, 3, 4, 1, 5 

(C) 2, 4, 3, 1, 5  (D) 2, 3, 1, 4, 5 

 

27. कदए गए दो कचह्ो ंऔर संख्याओ ंको आपस में बदलिे पर 

किम्नकलस्तखत में से कौि सा समीकरण सही िही ंहोगा? 

÷ और -, 121 और 144 

I. 225 - 3 + 144 × 2 ÷ 121 = 173 

II. 121 × 2 ÷ 144 - 11 × 6 = 224 

(A) I और II दोिो ं  (B) केिल II 

(C) ि तो I और ि ही II (D) केिल I 

 

28. कदए गए किकल्पो ंमें से कभन्न का चर्ि करें। 

(A) 6743:5411  (B) 3434:2102 

(C) 5537:4205  (D) 2286:1054 
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29. उस किकल्प का चर्ि करें  कजसमें दी गई आकृकत सकन्नकहत 

है (घूणयि की अिुमकत िही ंहै) । 

 

(A)  (B)  

(C)  (D)  

 

30. उस किकल्प का चर्ि करें  जो पांचिें तत्व से उसी प्रकार 

संबंकधत है जैसे दूसरा तत्व पहले तत्व से संबंकधत है और 

चौथा तत्व तीसरे तत्व से संबंकधत है। 

PICK: 1710412:: BROAD: 3191625 :: CURSE: ? 

(A) 32118195  (B) 42218195 

(C) 32118206  (D) 42219206 

 

31. िीचे कदए गए प्रश्न में कुछ कथि कदए गए हैं और उि 

कथिो ं के आधार पर कुछ किष्कषय कदए गए हैं। कदए गए 

कथिो ं को सत्य माििा भले ही िे सियज्ञात तथ्ो ं से कभन्न 

प्रतीत होते हो।ं सभी किष्कषों को प़िें  और कफर तर् करें  

कक कदए गए किष्कषों में से कौि सा किष्कषय ताककय क रूप 

से कदए गए कथिो ंका अिुसरण करता है। 

कर्थि: सभी LL, MM हैं 

कुछ SS, LL है 

सभी MM, KK हैं 

निष्कर्म: I. कुछ LL, KK िही ंहै 

II. कुछ SS, KK है 

III. सभी LL, KK हैं 

(A) केिल किष्कषय II और III अिुसरण करते  

 (B) केिल किष्कषय I और II अिुसरण करते हैं 

(C) उपरोक्त में से कोई भी किष्कषय अिुसरण िही ंकरता 

है  

(D) केिल किष्कषय III अिुसरण करता है 

 

32. अलग-अलग चार अक्षर-समूह कदरे् गरे् हैं। उस अक्षर-

समूह का चर्ि करें  जो कभन्न है। 

(A) MPH  (B) SVN 

(C) WZR  (D) FIB 

 

33. कौि सा अक्षर समूह दी गई शं्रखला को पूरा करेगा? 

DSWT, FRZR, HQCP, JPFN, LOIL, _____ 

(A) NLNJ  (B) NNLJ 

(C) NMLJ  (D) NQKM 

 

34. एक अिुक्रम कदर्ा गर्ा है कजसमें एक पद किलुप्त है। कदए 

गए किकल्पो ंमें से िह सही किकल्प चुकिए जो शंृ्रखला को 

पूरा करे। 

9, 12, 29, 32, 69, 72, ___ 

(A) 154   (B) 149 

(C) 75   (D) 147 

 

35. एक ही पासे की तीि अलग-अलग स्तथथकतर्ाँ कदखाई गई हैं। 

िह अक्षर ढंूढें , जो 'M' दशायिे िाले फलक के किपरीत 

फलक पर हो सकता है। 

 
(A) J   (B) L 

(C) O   (D) K 

 

36. एक किकित कूट भाषा में, 'FIGHTER' को '####$@$' 

और 'SOLEMN' को '$&&@&&' कलखा जाता है। उसी 

कूट भाषा में 'PROMOTE' कैसे कलखा जाएगा? 

(A) &&$$$&@  (B) $$&&&$@ 

(C) &$&&&$#  (D) $$&&&&@ 

 

37. दी गई शीट को मोड़कर एक घि बिार्ा जाता है, इस 

प्रकार बिे घि में, अक्षरो ंके किम्नकलस्तखत जोड़ो ंमें से कौि-

से किपरीत फलक पर हैं? 

 
(A) #, @  (B) {, & 

(C) $, {   (D) %, & 

 

38. कदए गए किकल्पो ंमें से किषम को ज्ञात करें। 

(A) 964: 216  (B) 445: 80 

(C) 237: 42  (D) 468: 196 

 

39. कदए गए समीकरण को संतुकलत करिे के कलए ककि दो 

अंको ंऔर कचह्ो ंको आपस में बदला जा सकता है? 

176 + 4 ÷ 22 × 10 - 444 = 155 

(A) 22 और 4; + और ÷  

(B) 4 और 22; = और - 

(C) 176 और 444; ÷ और +  

(D) 444 और 155; × और + 

  

40. एक शंृ्रखला दी गई है कजसमें दो पद लुप्त हैं। कदए गए 

किकल्पो ंमें से िह सही किकल्प चुकिए जो शंृ्रखला को पूरा 

करे। 

-5, -4, -2, ____, 5, 10, 16, 23, ____ 

(A) -1, 30  (B) 2, 29 

(C) 1, 31  (D) 2, 30 

 

41. एक घड़ी की दपयण प्रकतकबम्ब 04:19 घंटे का समर् कदखाती 

है। घड़ी पर कदखार्ा गर्ा समर् क्या है? 
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(A) 08:41 घंटे  (B) 08:14 घंटे 

(C) 07:14 घंटे  (D) 07:41 घंटे 

 

42. र्कद 'A + B' का अथय है कक A, B का भाई है 'A × B' का 

अथय है कक A, B की पुत्री है, 'A ÷ B' का अथय है कक A, B 

का कपता है तो किम्नकलस्तखत में से कौि सा समीकरण 

दशायता है कक R, S की पत्नी है? 

(A) P ÷ R + S  (B) R + S × P 

(C) P × S ÷ R  (D) S ÷ P × R 

 

43. एक किकित कूट भाषा में, 'HIGH' को '16' के रूप में 

कोकडत ककर्ा जाता है और 'VEIN' को '36' के रूप में 

कोकडत ककर्ा जाता है। उसी कूट भाषा में 'TOUR' को 

कैसे कोकडत ककर्ा जाएगा? 

(A) 40   (B) 38 

(C) 26   (D) 36 

 

44. जब दपयण को रेखा MN पर कदखार्ा गर्ा है तो कदए गए 

संर्ोजि की सही दपयण प्रकतकबम्ब का चर्ि करें। 

 

(A) (B)  

(C) (D)  

 

45. दी गई आकृकत में कत्रभुजो ंकी संख्या ज्ञात कीकजए। 

 
(A) 18   (B) 20 

(C) 16   (D) 22 

 

46. प्रश्न में कदए गए कथिो ंको सत्य मािते हुए ज्ञात कीकजए कक 

कदए गए तीि किष्कषों में से कौि-सा/से किष्कषय किकित 

रूप से सत्य है/हैं और कफर उसी के अिुसार अपिा उत्तर 

दीकजए। 

कर्थि: K = L > M; S = O ≥ C; A < Z ≤ C; S ≤ M 

निष्कर्म: I. Z ≤ M  II. S > A 

III. K ≥ O 

(A) केिल किष्कषय II अिुसरण करता है 

 

(B) केिल किष्कषय III अिुसरण करता है 

(C) केिल किष्कषय I और II अिुसरण करते हैं 

(D) केिल किष्कषय II और III अिुसरण करते हैं 

 

47. िीचे कदए गए प्रश्न में कुछ कथि कदए गए हैं और उि 

कथिो ं के आधार पर कुछ किष्कषय कदए गए हैं। कदए गए 

कथिो ं को सत्य माििा भले ही िे सियज्ञात तथ्ो ं से कभन्न 

प्रतीत होते हो।ं सभी किष्कषों को प़िें  और कफर तर् करें  

कक कदए गए किष्कषों में से कौि सा किष्कषय ताककय क रूप 

से कदए गए कथिो ंका अिुसरण करता है। 

कर्थि: सभी टाल कजराफ हैं 

कुछ कजराफ शाटय है 

कोई भी टाल जेब्ा िही ंहै 

निष्कर्म: I. कुछ कजराफ जेब्ा िही ंहै 

II. कोई भी टाल शाटय िही ंहै 

III. कुछ जेब्ा शाटय है 

IV. कुछ टाल जेब्ा िही ंहै 

(A) केिल किष्कषय II अिुसरण करता है  

(B) केिल किष्कषय I और IV अिुसरण करते हैं 

(C) केिल किष्कषय II, III और IV अिुसरण करते हैं 

(D) केिल किष्कषय III अिुसरण करता है 

 

48. एक प्रश्न कदर्ा गर्ा है, कजसके बाद दो कथि क्रमांक (I) 

और (II) कदए गए हैं। आपको र्ह तर् करिा है कक कथिो ं

में कदर्ा गर्ा डेटा प्रश्न का उत्तर देिे के कलए पर्ायप्त है र्ा 

िही।ं दोिो ंकथिो ंको प़िें  और उपरु्क्त उत्तर का चर्ि 

करें। 

प्रश्: K, L, M और N एक िृत्ताकार मेज पर कें द् की ओर 

मुख करके बैिे हैं। N के तत्काल बाएं कौि बैिा है? 

कर्थि: I) L और N के बीच केिल एक व्यस्तक्त बैिा है। K, 

L के तत्काल बाएं िही ंबैिा है। 

II) L, K के दाएँ से तीसरे थथाि पर बैिा है। M, K के दाएँ 

से दूसरे थथाि पर बैिा है। 

(A) कथि I में कदर्ा गर्ा डाटा अकेले प्रश्न का उत्तर देिे 

के कलए पर्ायप्त है जबकक कथि II में कदर्ा गर्ा डाटा िही ं

है।   

(B) र्ा तो कथि I अकेले र्ा कथि II में डेटा अकेले प्रश्न 

का उत्तर देिे के कलए पर्ायप्त है। 

(C) कथि I और II में कदर्ा गर्ा डाटा एक साथ प्रश्न का 

उत्तर देिे के कलए पर्ायप्त है।   

(D) अकेले कथि II में कदर्ा गर्ा डेटा प्रश्न का उत्तर देिे 

के कलए पर्ायप्त है जबकक कथि I का डेटा िही ंहै। 

 

49. कागज के एक टुकड़े को मोड़िे का क्रम और उसे मोड़िे 

की किकध को ककस प्रकार काटा गर्ा है, किम्नकलस्तखत 

आकृकत में कदखार्ा गर्ा है। खुलिे पर र्ह पेपर कैसा 

कदखेगा? 

 

(A)  (B)  

(C)  (D)  
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50.  ररर्ा, कजसका मुख उत्तर कदशा की ओर है, कजस कदशा में 

उसका मुख है, िह एक सीधी रेखा में 5 मीटर चलती है। 

कफर िह दाएँ मुड़ती है और 10 मीटर चलती है। कफर िह 

बार्ी ंओर मुड़ती है और 4 मीटर चलती है। िह कफर बाई ं

ओर मुड़ती है और 12 मीटर चलती है। कफर िह दकक्षण 

कदशा में 8 मीटर चलती है। अंत में, िह अपिी दाईं ओर 

मुड़ती है, 6 मीटर चलती है और अपिे गंतव्य तक पहंुचती 

है। कजस कबंदु से उसिे शुरुआत की थी उसके संबंध में 

उसकी मंकजल की कदशा क्या है? 

 (A) दकक्षण-पूिय   (B) उत्तर-पकिम 

(C) उत्तर-पूिय   (D) दकक्षण-पकिम 

General Awareness  

51. रामकृष्ण कमशि िे समाज सेिा और किस्वाथय कारयिाई के 

माध्यम से __________ के आदशय पर बल कदर्ा। 

(A) कशक्षा  (B) मोक्ष 

(C) ईश्वर   (D) भस्तक्त 

 

52. स्व-जुताई ________ की एक किशेषता है क्योकंक र्ह सूखिे 

पर चौड़ी दरारें  किककसत कर लेती है। 

(A) जलो़ि कमट्टी  (B) लाल कमट्टी 

(C) लेटराइट कमट्टी  (D) काली कमट्टी 

 

53. हाल ही में, VISA िे भारत में घरेलू टोकि के्रडेंकशर्ल्स के 

कलए CVV मुक्त ऑिलाइि लेिदेि शुरू ककर्ा है। र्हाँ 

'CVV' में 'C' ककसका प्रतीक है? 

(A) मुद्ा   (B) िकद 

(C) के्रकडट  (D) काडयधारक 

 

54. भारतीर् संकिधाि के किम्नकलस्तखत में से ककस अिुचे्छद में 

अिुसूकचत जाकत, अिुसूकचत जिजाकत और अन्य कमजोर 

िगों के शैकक्षक और आकथयक कहतो ंको ब़िािा देिा शाकमल 

है?  

(A) अिुचे्छद 44  (B) अिुचे्छद 38 

(C) अिुचे्छद 46   (D) अिुचे्छद 49 

 

55. मुकशयद कुली खां ककस के्षत्र का शासक था? 

(A) डेक्कि  (B) मालिा 

(C) बंगाल  (D) पंजाब 

 

56. ििीितम समाचार के अिुसार, UNDP िे महासागरो ं में 

प्लास्तस्टक प्रदूषण को खत्म करिे के कलए द ओशि 

क्लीिअप के साथ एक समझौता ज्ञापि (MoU) पर 

हिाक्षर ककए हैं। 

संरु्क्त राष्ट्र  किकास कार्यक्रम (UNDP) का मुख्यालर् 

________ में स्तथथत है। 

(A) कजिेिा  (B) पेररस 

(C) िाकशंगटि  (D) नू्यर्ॉकय  

 

57. "पे्लट टेक्टोकिक्स के कसद्धांत" के किकास में ककसिे 

महत्वपूणय भूकमका किभाई? 

(A) कोपे्पि  (B) ए.जी. टैन्सले  

(C) हैरी हेस  (D) एल.सी. राजा 

 

58. ब्योपा _________ से संबंकधत जिजाकतर्ो ं का एक 

पारंपररक टोपी है। 

(A) गोिा   (B) केरल 

(C) झारखंड  (D) अरुणाचल प्रदेश 

 

59. मािि प्राप्तकताय में प्रत्यारोकपत सुअर हृदर् िाल्व को 

_________ मािा जाएगा। 

(A) ऑटोग्राफ्ट  (B) आइसोग्राफ़्ट 

(C) एलोग्राफ़्ट  (D) जेिोग्राफ्ट 

 

60. गांधीजी का 'सिोदर्' से क्या तात्पर्य था? 

(A) अकहंसा  (B) असृ्पश्ो ंका उत्थाि 

(C) सत्याग्रह  (D) सबकी प्रगकत 

 

61. माधिपुर मेला होता है: 

(A) गुजरात  (B) उत्तर प्रदेश 

(C) मध्य प्रदेश  (D) महाराष्ट्र  

 

62. राष्ट्र ीर् कृकष कििार पररर्ोजिा (NAEP) िषय __________ 

के दौराि शुरू की गई थी। 

(A) 1962-63  (B) 1972-83 

(C) 1981-93  (D) 1982-83 

 

63. भारतीर् संकिधाि के ककस अिुचे्छद के तहत जिसंख्या के 

एक िगय में बोली जािे िाली भाषा के कलए किशेष प्रािधाि 

प्रदाि ककए गए हैं? 

(A) अिुचे्छद 327  (B) अिुचे्छद 357 

(C) अिुचे्छद 347  (D) अिुचे्छद 374 

 

64. मािि मूत्र का pH माि ककतिा होता है? 

(A) 2.8   (B) 4.0- 4.5 

(C) 6.5 - 7.4  (D) 6.0 

 

65. स्वणय जरं्ती ग्राम स्वरोजगार र्ोजिा को अब ___________ 

के रूप में पुिगयकित ककर्ा गर्ा है। 

(A) राष्ट्र ीर् ग्रामीण आजीकिका कमशि  

(B) प्रधािमंत्री रोजगार र्ोजिा 

(C) जिाहर ग्राम समृस्तद्ध र्ोजिा   

(D) समू्पणय ग्रामीण रोजगार र्ोजिा 

 

66. किम्नकलस्तखत में से कौि-सा/से पुराणपाषाण थथल है/हैं? 

(I) बकंुडा 

(II) लंघिाज 

िीचे कदए गए कूट का प्रर्ोग सही उत्तर चुकिए: 

(A) केिल I  (B) I और II दोिो ं

(C) केिल II  (D) इिमे से कोई िही ं

 

67. NABARD के संदभय में किम्नकलस्तखत कथिो ंपर किचार करें  

और सही किकल्प का चर्ि करें। 

(I) िाबाडय की थथापिा 1970 में संसद के एक अकधकिर्म 

द्वारा की गई थी। 

(II) र्ह केिल कृकष के कलए ऋण की सुकिधा प्रदाि करता 

है। 

(A) केिल I सही है  (B) केिल II सही है 

(C) I और II दोिो ंसही हैं (D) ि तो I ि ही II सही है 

 

68. रक्त कोकशकाओ ंका किमायण शरीर के ककस भाग में होता 

है? 
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(A) कदल   (B) मस्तततष्क 

(C) अस्तथथ मज्जा  (D) फेफड़े 

 

69. भारत के संकिधाि का अिुचे्छद 19 _________ से संबंकधत 

है। 

(A) समािता का अकधकार (B) स्वतंत्रता का अकधकार 

(C) कशक्षा का अकधकार (D) असृ्पश्ता का उनू्मलि 

 

70. "किश्व हेपेटाइकटस कदिस" कब मिार्ा जाता है? 

(A) 28 जुलाई  (B) 11 कसतंबर 

(C) 30 अगि  (D) 24 जूि 

 

71. िह थथाि, जहाँ मुख्य रूप से ओजोि परत पाई जाती है, 

_____ है: 

(A) क्षोभ मंडल  (B) मध्यमंडल 

(C) समताप मंडल  (D) आर्ि मंडल 

 

72. जैि किकिधता में कमी का मुख्य कारण है: 

(A) अत्यकधक दोहि  

(B) आिास प्रदूषण 

(C) कििास का कििाश  

(D) अिोखे प्रजाकतर्ो ंका पररचर् 

 

73. अंडे का कछलका किम्नकलस्तखत में से ककस र्ौकगक से बिा 

होता है? 

(A) सोकडर्म िाइटर ेट  

(B) काबयि डाइसल्फाइड 

(C) फॉस्फोरस टर ाइऑक्साइड   

(D) कैस्तल्शर्म काबोिेट 

 

74. भारत के मुख्य न्यार्ाधीश भारतीर् न्यार्पाकलका के 

सिोच्च पद के अकधकारी हैं। भारत के मुख्य न्यार्ाधीश की 

किरु्स्तक्त किम्नकलस्तखत में से ककसके द्वारा की जाती है? 

(A) रक्षा मंत्री  (B) राष्ट्र पकत 

(C) प्रधािमंत्री  (D) गृहमंत्री 

 

75. उस पहली भारतीर् मकहला हॉकी स्तखलाड़ी कौि है कजिके 

िाम पर से्टकडर्म बिा है? 

(A) िंदिा कटाररर्ा (B) रािी रामपाल 

(C) सकिता पुकिर्ा  (D) सुशीला चािू 

English Language 

76. Select the most appropriate antonym of the given 
word. 
Commend 
(A) depart  (B) delay 
(C) rebuke  (D) praise 
 

77. Find out which part of the sentence has an error and 
select the appropriate option. 
Holmes's cross-examination (A) / was interrupting by 
an (B) / imperative knock at the door. (C) / No error 
(D)  
(A) A   (B) B 
(C) C   (D) D 
 

78. Select the most appropriate synonym of the given 
word. 
Exaggerate 
(A) exert   (B) imply 

(C) amplify  (D) accentuate 
 
79. Out of the following choose the word which expresses 

the word opposite in meaning to the given word. 
Inevitable 
(A) avoidable  (B) constant 
(C) extreme  (D) vague 
 

80. Select the most appropriate word to fill in the blank. 
Dozens of media outlets have had to _______ a 
distrustful public. 
(A) encounter  (B) elope 
(C) entice  (D) allure 
 

81. Select the most appropriate word to fill in the blank. 
The team's success was due to their ________ work 
ethic. 
(A) consistent  (B) unconventional 
(C) mediocre  (D) hapless 
 

Directions [82-86]: In the following passage, some of the 
words have been left out. Read the passage carefully 
and select the correct answer for the given blank out 
of the four alternatives. 

 
June 8 is marked as National Best Friends Day in the 
United States and Canada, but now, because of 
globalization, it has become popular everywhere. This 
day is a/an excellent ___(I) ___ to spend quality time 
with those who are always there to catch us when we 
fall. Although the first Sunday of August was ___(II) 
___ as National Friendship Day, after a hearing in the 
US Congress in 1935, on June 8, National Best 
Friends Day came into ___(III) ___. This day was not 
well ___(IV) ___ by people in the past; however, it 
has earned its place in recent times because of social 
media. People ___(V) ___ in a variety of activities 
with full vigour to celebrate this day. 

 
82.  (I)  

(A) inspection  (B) negotiation 
(C) opportunity  (D) awareness 

 
83. (II)  

(A) pleased  (B) selected 
(C) wasted  (D) migrated 

 
84.  (III)  

(A) existence  (B) retaliation 
(C) competition  (D) obligation 

 
85.  (IV)  

(A) argued  (B) fascinated 
(C) requested  (D) known 

 
86.  (V)  

(A) transform  (B) participate 
(C) retain  (D) inherit 
 

87. Select the most appropriate meaning of the given 
idiom. 
Let the cat out of the bag 
(A) to adopt a cat  (B) to reveal a secret 
(C) to play with a cat (D) to feed a cat 

 
88. Select the correct passive form of the given sentence. 

The young lad might have convinced the rich widow. 
(A) The rich widow will be convinced by the young 
lad.   
(B) The rich widow might have been convinced by the 
young lad. 
(C) The rich widow m 
ight convincing by the young lad.  
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(D) The rich widow may have been convinced by the 
young lad. 
 

89. In the following question, out of the four alternatives, 
select the alternative which best expresses the 
meaning of the Idiom/ Phrase. 
Out of the woods 
(A) to face two equally unpleasant choices 
(B) to prevent something bad from affecting you 
(C) to be focused about achieving a goal 
(D) to no longer be in danger or difficulty 

 
90. Select the most appropriate option to substitute the 

underlined segment in the given sentence. If there is 
no need to substitute it, select No improvement. 
Even though I held up my anger during the episode, 
it does not mean I have nothing to say. 
(A) held on  (B) held back 
(C) held off  (D) No improvement 
 

91. Select the most appropriate option to substitute the 
underlined segment in the given sentence. If there is 
no need to substitute it, select 'No substitution 
required'. 
We are looking to the feasibility of building a 
shopping centre opposite the park. 
(A) No improvement (B) looking up to 
(C) looking at  (D) looking after 
 

92. Select the correct spelling of the word. 
(A) inumerable  (B) innummerable 
(C) innumerable  (D) innumerabal 
 

93. Select the correct indirect form of the given sentence. 
Kavya said to him, "I am going to tell the manager." 
(A) Kavya told him that she had been going to tell the 
manager.   
(B) Kavya told him that she has been going to tell the 
manager. 
(C) Kavya told him that she was going to tell the 
manager.   
(D) Kavya told him that she goes to tell the manager. 

 
94. In the question given below, rearrange the fragments 

in the correct order, and choose the correct option. 
P. As it cools, the solubility of this compound drops 
and it is partially released on the surface of the liquid 
as a film. 
Q. Tea leaves contain phenolic compounds, tannins, 
which give a strong drink an astringent taste, and 
alkaloids, primarily thein. 
R. When the cup is tilted and sipped from it, this film 
ends up on the walls and dries out, resulting in a 
stain. 
S. When the tea is brewed, these come out in solution 
and react with each other. 
(A) SQRP  (B) QSPR 
(C) QRSP  (D) PSQR 
 

95. In the following question, a sentence has been given 
in Direct/ Indirect speech. Out of the four alternatives 
suggested, select the one which best expresses the 
same sentence in Direct/ Indirect speech. 
Mohan said to me, "I have been preparing the project 
for five hours." 
(A) Mohan told me that he was preparing the project 
for five hours.   
(B) Mohan told me that he has been preparing the 
project for five hours. 

(C) Mohan told me that he would be preparing the 
project for five hours.  
(D) Mohan told me that he had been preparing the 
project for five hours. 
 

96. In the following question, out of the four alternatives, 
select the alternative which is the best substitute for 
the phrase. 
A person who is new to or inexperienced in a job or 
situation 
(A) novice  (B) veteran 
(C) connoisseur  (D) Aficionado 

 
97. Select the most appropriate option to substitute the 

underlined segment in the given sentence. If there is 
no need to substitute it, select 'No substitution 
required'. 
The executive couldn't assist me, so he put me up 
to a senior manager. 
(A) put me through (B) No improvement 
(C) put me down  (D) put me off 

 
98. In the following question, out of the four alternatives, 

choose the one which can be substituted for the given 
words/sentence. 
In complete agreement 
(A) ubiquitous  (B) unanimous 
(C) utopia  (D) unavoidable 

 
99. Select the wrongly spelled word. 

(A) diaphanous  (B) ambiguous 
(C) amicable  (D) duplicitious 

 
100. In the following question, one part of the sentence 

may have an error. Select the option containing the 
error as your answer. 
The fascinating part of the book (A) / is watching the 
character change (B) / as she become more famous. 
(C) / No error (D)  
(A) A   (B) B 
(C) C   (D) D 
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Quantitative Aptitude  

1. Answer: (C) 

कुल कार्य समाप्त करने में 'A' द्वारा ललर्ा गर्ा समर्  

= 20 ÷ 0.5 = 40 लिन 

कुल कार्य समाप्त करने में 'B' द्वारा ललर्ा गर्ा समर्  

= 24 ÷ 0.4 = 60 लिन 

माना लक कुल कार्य 120 इकाई है। {एलसीएम (40 और 

60)} 

तो, 'A' की िक्षता = 120 ÷ 40 = 3 रू्लनट/लिन 

और 'B' की िक्षता = 120 ÷ 60 = 2 रू्लनट/लिन 

तो, 75% काम ख़त्म करने में लगा समर् = (120 × 0.75) 

÷ (2 + 3) = (90/5) = 18 लिन 

2. Answer: (B) 

हम वह जानते हैं, 

लकसी वृत्त की सीधी उभर्लनष्ठ स्पर्यरेखा  

=  √( केन्द्ोों की िूरी)2 − (लिज्या के बीच अोंतर)2 

तो, आवश्यक लोंबाई =  √252 − (12 − 5)2 

= √625 − 72 = √625 − 49 = √576 = 24 सेमी 

3. Answer: (D) 

समस्या के हल होने की प्रालर्कता = 1 - समस्या के हल न 

होने की प्रालर्कता 

समस्या के हल न होने की प्रालर्कता = {1 - (4/9)} × {1 - 

(3/8)} × {1 - (17/25)}= (5/9) × (5/8) × (8/25)  

= (1/9) 

तो, आवश्यक प्रालर्कता = 1 - (1/9) = (8/9) 

4. Answer: (B) 

माना लक वसु्त का अोंलकत मूल्य ₹'100x' है। 

तो, सूरज के ललए वसु्त का क्रर् मूल्य = 100x × 0.6  

= ₹'60x' 

और सूरज के ललए वसु्त का लवक्रर् मूल्य = 100x × 0.75 

= ₹'75x' 

तो, सूरज द्वारा अलजयत लाभ = 75x - 60x = ₹'15x' 

तो, लाभ प्रलतर्त = (15x/60x) × 100 = 25% 

5. Answer: (D) 

 
AC² = AB² + BC² 

र्ा, AC² = 15² + 8² 

र्ा, AC² = 225 + 65 

र्ा, AC² = 289 

अतः , AC = 17 (चूूँलक, लोंबाई ऋणात्मक नही ों हो सकती 

इसललए हम धनात्मक मूल ही लेंगे) 

तो, आवश्यक मान = sec C + tan A - cosec C 

=
17

8
+

8

15
−

17

15
 {sec C = (AC/AB), tan A = (BC/AB) 

और cosec C = (AC/AB) के प्रर्ोग से} 

=
255+64−136

120
 =

183

120
=

61

40
 

6. Answer: (C) 

लिए गए पाूँच वर्षों के िौरान बेचे गए फोनोों की कुल सोंख्या 

= 500 + 750 + 600 + 550 + 600 = 3000 

3000 का 20% = 600 

हम ताललका से िेख सकते हैं लक केवल 2016 में बेचे गए 

फोनोों की कुल सोंख्या 600 से अलधक थी। 

7. Answer: (B) 

माना लनवेर् की गई रालर् ₹'P' है। 

प्रश्नानुसार; 

27560 - P = (P × 8.4 × 4.5) ÷ 100 

र्ा, 27560 = P + 0.378P 

र्ा, 27560 = 1.378P 

अतः , P = 20000 

तो, अलजयत ब्याज = (20000 × 8 × 2.5) ÷ 100  

= ₹4,000 

8. Answer: (A) 

(m + n + p)³ = m³ + n³ + p³ + 3(m + n)(n + p)(p 

+ m).... 

अतः , आवश्यक मान = a³ + b³ - c³ + 3(a + b)(b - c)(a 

- c) 

तुलना पर, 

'm' = 'a' 

'n' = 'b' 

और, 'p' = '-c' 

अतः , a³ + b³ - c³ + 3(a + b)(b - c)(a - c)  

= (a + b - c)³ 

9. Answer: (B) 
1+tan 𝐴

1−tan 𝐴

=
1+

sin 𝐴

cos 𝐴

1−
sin 𝐴

cos 𝐴

=
1

cos 𝐴
×(sin 𝐴+cos 𝐴)

1

cos 𝐴
×(cos 𝐴−sin 𝐴)

=
(sin 𝐴+cos 𝐴)

(cos 𝐴−sin 𝐴)

  

10. Answer: (C) 

माना वसु्त बेचने पर अलजयत लाभ ₹'3x' है। 

तो, वसु्त का लवक्रर् मूल्य = 3x × (5/3) =  ₹
′5x′  

तो, वसु्त का लागत मूल्य =5𝑥 − 3𝑥 = ₹2𝑥  

तो, लाभ प्रलतर्त= (3x/2x)X100 = 150%  

11. Answer: (D)  

पहले लिन बेची गई गाजरोों की सोंख्या = 320 × (3/8)  

= 120 

तीसरे लिन बेची गई गाजरोों की सोंख्या = 360 × (1/3)  

= 120 

5वें लिन बेची गई गाजरोों की सोंख्या = 360 × (5/9)  

= 200 

तो, आवश्यक रालर् = 120 + 120 + 200 = 440 

12. Answer: (A) 

माना लक 'B' की वतयमान आरु् 'x' वर्षय है। 

तो, 'A' की वतयमान आरु् = x × 1.2 = '1.2x' वर्षय 

प्रश्नानुसार; 

1.2x - x = 5 

र्ा, 0.2x = 5 

अतः , x = 25 

अतः , 'A' की वतयमान आरु् = 25 × 1.2 = 30 वर्षय 

अतः , 'C' की वतयमान आरु् = 30 + 18 = 48 वर्षय 

13. Answer: (B) 

फरवरी, अपै्रल और जून में बेचे गए एचपी लैपटॉप की कुल 

सोंख्या = 160 + 210 + 230 = 600 
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जनवरी, अपै्रल और मई में लमलाकर डेल लैपटॉप की कुल 

सोंख्या = 360 + 275 + 425 = 1060 

आवश्यक अनुपात = 600:1060 = 30:53 

14. Answer: (D) 

माना 'x' और 'y' क्रमर्ः  12a और 7a हैं। 

इसललए, (x + 4y) = 12a + 4 × 7a = 12a + 28a  

= 40a 

और, 8 × (x - y) = 8 × (12a - 7a) = 8 × 5a = 40a 

[(x + 4y):{8(x - y)}] = 40a:40a = 1:1 

15. Answer: (D) 

मान लीलजए 'B' को '10x' वोट लमले। 

तो, 'C' को लमले वोटोों की सोंख्या = 10x × 1.7 = '17x' 

'A' को लमले वोटोों की सोंख्या = 10x × 1.3 = '13x' 

प्रश्नानुसार, 

17x - 13x = 2700 

र्ा, 4x = 2700 

अतः , 'x' = 675 

तो, डाले गए वोटोों की कुल सोंख्या = 13x + 10x + 17x  

= 40x = 40 × 675 = 27000 

तो, मतिान सूची में मतिाताओों की कुल सोंख्या  

= 27000 ÷ 0.9 = 30000 

16. Answer: (A) 

3/4, 2/5 और 7/12 का एलसीएम 

= 
3,2 & 7 का LCM

4,5 & 12 का 𝐻𝐶𝐹
 = 

42

1
 = 42 

17. Answer: (A)  

अकेले पाइप 'A' द्वारा टोंकी को पूरी तरह भरने में लगा 

समर् = 18 ÷ 0.75 = 24 लमनट 

तो, माना टोंकी की क्षमता = 24 और 33 का L.C.M  

= 264 इकाई 

तो, 'A' के पाइप की िक्षता = 264 ÷ 24  

= 11 रू्लनट/लमनट 

पाइप 'A' और 'B' की सोंरु्क्त िक्षता = 264 ÷ 33  

= 8 रू्लनट/लमनट 

तो, अकेले पाइप 'B' की िक्षता = 8 - 11  

= 3 रू्लनट/लमनट (आउटलेट) 

तो, अकेले पाइप 'B' द्वारा टोंकी खाली करने में लगा समर् 

= 264 ÷ 3 = 88 लमनट 

18. Answer: (C)  

घनाकार लडबे्ब की ऊूँ चाई = 864 ÷ (12 × 9) = 8 सेमी 

तो, घनाकार बॉक्स का कुल पृष्ठीर् के्षिफल = 2 × (12 × 

9 + 9 × 8 + 8 × 12)  

= 2 × (108 + 72 + 96) = 552 सेमी² 

घनाकार बके्स का कुल पृष्ठीर् के्षिफल = 6 × 10²  

= 600 सेमी² 

तो, पृष्ठीर् के्षिफल में अोंतर = 600 - 552 = 48 सेमी² 

19. Answer: (B)  

माना उधार िी गई रालर् ₹'x' है। 

अत: प्राप्त ब्याज = ₹(x + 750) 

तो, x × (8/100) × 15 = (x + 750) 

र्ा, 1.2x - x = 750 

र्ा, 0.2x = 750 

र्ा, 'x' = (750/0.2) = 3750 

इसललए, लनवेलर्त रालर् = ₹3750 

20. Answer: (A) 

1 लकलो = 1000 ग्राम 

तो, आवश्यक प्रलतर्त = 
78

3000
× 100 = 2.6% 

21. Answer: (A) 

चूूँलक, 'P' और 'Q' क्रमर्ः  AD और BC के मध्य-लबोंिु हैं। 

तो, टर ैपेल़िर्म की लनर्म से, 

PQ =  × (AB + CD) 

PQ =  × (18 + 12) 

PQ =  × 30 

अतः , PQ = 15 सेमी 

22. Answer: (C) 

5
3

7
× 2

3

9
+ 3

2

5
÷ 8

1

2
×

1

2
÷ [2

3

5
− 1

1

4
]   

=
38

7
×

21

9
+

17

5
÷

17

2
×

1

2
÷ [

13

5
−

5

4
]  

=
38

3
+

17

5
×

2

17
×

1

2
÷ [

52−25

20
] =

38

3
+

1

5
×

20

27
  

23. Answer: (A)  

 
लिए गए लचि में, मान लीलजए लक 'बी' और 'ए' क्रमर्ः  ध्वज 

स्तोंभ के लनचले भाग और ध्वज स्तोंभ के र्ीर्षय को िर्ायते हैं। 

समकोण ∆PBA में, 

tan30o = (AB/BP)  

र्ा, (60/BP) = (1/√3)  

अतः , BP = 60 × √3 = 60√3 मीटर 

इसललए, झोंडे के खोंभे के लनचले भाग और जमीन पर लबोंिु 

'P' के बीच की िूरी 60√3 मीटर है। 

24. Answer: (B)  

135% of 220% of 200 = 200 × 1.35 × 2.2 = 594 

आवश्यक प्रलतर्त = (594/750) × 100 = 79.2% 

25. Answer: (A)  

a - b + 8 = 0 

अतः , 'b' = a + 8 

अब, (x - a)(x - b) = 1 

र्ा, (x - a)(x - a - 8) = 1 

र्ा, (x - a - 8) = 
1

(𝑥−𝑎)  

र्ा, (x - a) - 
1

(𝑥−𝑎)  = 8 

िोनोों पक्षोों का वगय करने पर, हमें प्राप्त होता है, 

(x - a)² + 
1

(𝑥−𝑎)2  - 2 × (x - a) × {1/(x - a)} = 64 

अतः , (x - a)² + 
1

(𝑥−𝑎)2  = 64 + 2 = 66 

सूि (a³ - b³) = (a - b)(a² + b² + ab) के उपर्ोग से, 

(x - a)³ - 
1

(𝑥−𝑎)3 = {(x - a) - 
1

(𝑥−𝑎) }{(x - a)² + 
1

(𝑥−𝑎)3 + 

1} 

= 8 × (66 + 1) 

= 8 × 67 

= 536 

Reasoning Aptitude 

26. Answer: (B) 

सही र्ब्दकोर् क्रम होगा: 

2- Millennium, 3- Mineral, 4- Misfortune, 1- 

Mission, 5- Mistake 
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तो, (2, 3, 4, 1, 5) सही र्ब्दकोर् क्रम का प्रलतलनलधत्व 

करता है। 

27. Answer: (B) 

I. 225 - 3 + 144 × 2 ÷ 121 = 173 

(I) में लचह्ोों और अोंकोों को आपस में बिलने के बाि, हमें 

प्राप्त होता है: 

225 ÷ 3 + 121 × 2 - 144 = 173 

75 + 121 × 2 - 144 = 173 

75 + 242 - 144 = 173 

317 - 144 = 173 

173 = 173 

II. 121 × 2 ÷ 144 - 11 × 6 = 224 

(II) में लचह्ोों और अोंकोों को आपस में बिलने के बाि, हमें 

प्राप्त होता है: 

144 × 2 -121 ÷ 11 × 6 = 224 

144 × 2 - 11 × 6 = 224 

288 - 66 = 224 

222 ≠ 224 

इसललए, िोनोों समीकरणोों में लिए गए िो लचह्ोों और 

सोंख्याओों को आपस में बिलने से, केवल समीकरण II सही 

नही ों होगा। 

28. Answer: (D) 

ऊपर अपनार्ा गर्ा पैटनय इस प्रकार है: 

पहली और िूसरी सोंख्या के बीच का अोंतर 1332 है। 

लवकल्प A में, 

पहली सोंख्या = 6743, िूसरी सोंख्या = 5411, अोंतर  

= 6743 - 5411 = 1332 

लवकल्प B में, 

पहली सोंख्या = 3434, िूसरी सोंख्या = 2102, अोंतर  

= 3434 - 2102 = 1332 

लवकल्प C में, 

पहली सोंख्या = 5537, िूसरी सोंख्या = 4205, अोंतर  

= 5537 - 4205 = 1332 

लवकल्प D में, 

पहली सोंख्या = 2286, िूसरी सोंख्या = 1054, अोंतर  

= 2286 - 1054 = 1232 ≠ 1332 

लवकल्प D को छोड़कर उपरोक्त सभी लवकल्प उपरोक्त 

पैटनय का पालन करते हैं। 

29. Answer: (D) 

सलिलहत लचि नीचे लिखार्ा गर्ा है, 

 
30. Answer: (D) 

र्हाूँ अनुसरण लकर्ा गर्ा तकय  र्ह है: 

र्ब्द के प्रते्यक अक्षर के लनकटतम अगले अक्षर का 

स्थानीर् मान अोंगे्रजी वणयमाला शृ्ोंखला के अनुसार बाएों  से 

िाएों  ललखा जाता है। 

चूूँलक, 'PICK', '1710412' से सोंबोंलधत है। 

P (16) I (9) C (3) K (11) 

+1 +1 +1 +1 

17 10 4 12 

'BROAD' '3191625' से सोंबोंलधत है। 

B (2) R (18) O (15) A (1) D (4) 

+1 +1 +1 +1 +1 

3 19 16 2 5 

इसी प्रकार, 'CURSE', '42219206' से सोंबोंलधत है। 

C (3) U (21) R (18) S (19) E (5) 

+1 +1 +1 +1 +1 

4 22 19 20 6 

जैसे, 'PICK', '1710412' से सोंबोंलधत है और 'BROAD', 

'3191625' से सोंबोंलधत है उसी प्रकार 'CURSE', 

'42219206' से सोंबोंलधत है। 

31. Answer: (A) 

हम लनम्नललखखत आकृलत बनाते हैं: 

 
लनष्कर्षय: 

I. कुछ एलएल केके नही ों है। र्ह लनलित रूप से इसका 

पालन नही ों करता है क्ोोंलक सभी एलएल केके हैं। 

लद्वतीर्. कुछ एसएस केके हैं। र्ह लनलित रूप से उपरोक्त 

लचि में लिखाए अनुसार अनुसरण करता है। 

तृतीर्. सभी एलएल केके हैं। र्ह लनलित रूप से उपरोक्त 

लचि में लिखाए अनुसार अनुसरण करता है। 

उपरोक्त आकृलत से, केवल लनष्कर्षय II और III अनुसरण 

करते हैं। 

32. Answer: (D)  

र्हाों तकय  र्ह है लक र्ब्द का िूसरा अक्षर पहले अक्षर का 

तीसरा अक्षर है और तीसरा अक्षर लिए गए र्ब्द के पहले 

अक्षर का 5 वाों पूवयवती अक्षर है। 

[MPH] में; 

K + 3 = P; M - 5 = H 

[SVN] में; 

S + 3 = V; S - 5 = N 

[WZR] में; 

W + 3 = Z; W - 5 = R 

[FIB] में; 

F + 3 = I; F - 5 = A 

33. Answer: (B) 

र्हाूँ अनुसरण लकर्ा गर्ा पैटनय इस प्रकार है: 

प्रते्यक अक्षर समूह में, पहला अक्षर लपछले तत्व के पहले 

अक्षर का िूसरा अनुवती अक्षर है, िूसरा अक्षर लपछले तत्व 

के िूसरे अक्षर का तत्काल पूवयवती अक्षर है, तीसरा अक्षर 

तीसरे तत्व का तीसरा अनुवती अक्षर है लपछले तत्व का 

अक्षर और चौथा अक्षर अोंगे्रजी वणयमाला शृ्ोंखला के 

अनुसार लपछले तत्व के चौथे अक्षर का िूसरा पूवयवती 

अक्षर है। 

प्रते्यक अक्षर समूह का पहला अक्षर,D + 2 = F, F +2 = 

H, H + 2 = J, J + 2 = L, L + 2 = N 

प्रते्यक अक्षर समूह का िूसरा अक्षर, S-1 = R, R-1 = Q, 

Q - 1 = P, P - 1 = O, O - 1 = N 
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प्रते्यक अक्षर समूह का तीसरा अक्षर, W + 3 = Z, Z + 3 

= C, C + 3 = F, F + 3 = I, I + 3 = L 

प्रते्यक अक्षर समूह का चौथा अक्षर, T - 2 = R, R - 2  

= P, P - 2 = N, N - 2 = L, L - 2 = J 

तो, 'NNLJ' शृ्ोंखला को पूरा करेगा। 

इसललए, पूरी शृ्ोंखला इस प्रकार है: 

DSWT, FRZR, HQCP, JPFN, LOIL, NNLJ 

34. Answer: (B) 

र्हाूँ अनुसरण लकर्ा गर्ा तकय  है: 

9 × 1 + 3 = 9 + 3 = 12 

12 × 2 + 5 = 24 + 5 = 29 

29 × 1 + 3 = 29 + 3 = 32 

32 × 2 + 5 = 64 + 5 = 69 

69 × 1 + 3 = 69 + 3 = 72 

72 × 2 + 5 = 144 + 5 = 149 

'149' सीरीज को पूरा करेगी. 

पूरी शोंखला है: 

9, 12, 29, 32, 69, 72, 149 

35. Answer: (B) 

आकृलत 1 और आकृलत 3 से, हमें पता चलता है लक 'M' 

एक सामान्य अक्षर है। 

िलक्षणावतय लिर्ा में, आकृलत '1' में अनुक्रम (M, J, और N) 

होगा। 

िलक्षणावतय लिर्ा में, आकृलत '2' में अनुक्रम (M, O, और 

K) होगा। 

स्पष्टतः , O, J के लवपरीत है और K, N के लवपरीत है। 

आकृलत 1 और आकृलत 2 से, हमें 'M' और 'N' सामान्य 

अक्षर लमलते हैं। 

िलक्षणावतय लिर्ा में, आकृलत '1' में अनुक्रम (N, M, और J) 

होगा। 

िलक्षणावतय लिर्ा में, आकृलत '2' में अनुक्रम (N, M, और 

O) होगा। 

स्पष्टतः , O, J के लवपरीत है। 

आकृलत 2 और आकृलत 3 से, हमें 'M' और 'O' सामान्य 

अक्षर लमलते हैं। 

िलक्षणावतय लिर्ा में, आकृलत '2' में अनुक्रम (M, O, और 

N) होगा। 

िलक्षणावतय लिर्ा में, आकृलत '3' में अनुक्रम (M, O, और 

K) होगा। 

स्पष्टतः , K, N के लवपरीत है। 

चूोंलक, उपरोक्त आोंकड़ोों में केवल 5 अक्षर लिखाए गए हैं, 

इसललए पासे का एक पक्ष गार्ब है। उपरोक्त लवकल्पोों से, 

हम कह सकते हैं लक L, M के लवपरीत हो सकता है 

क्ोोंलक लवकल्प में लिर्ा गर्ा कोई भी अन्य अक्षर M के 

लवपरीत नही ों हो सकता है। 

तो, स्पष्ट रूप से, 'L', 'M' के लवपरीत हो सकता है। 

36. Answer: (B) 

र्हाूँ अनुसरण लकर्ा गर्ा तकय  र्ह है: 

A से E तक के अक्षरोों को '@', F से J तक के अक्षरोों को 

'#', K से O तक के अक्षरोों को '&' और P से T तक के 

अक्षरोों को '$' ललखा जाता है। '. 

चूूँलक 'FIGHTER' को '####$@$' ललखा जाता है 

F I G H T E R 

# # # # $ @ $ 

'SOLEMN' को '$&&@&&' ललखा जाता है 

S O L E M N 

$ & & @ & & 

इसी प्रकार, 

'PROMOTE' को '$$&&&$@' ललखा जाता है 

P R O M O T E 

$ $ & & & $ @ 

जैसे 'FIGHTER' को '####$@$' और 'SOLEMN' को 

'$&&@&&' ललखा जाता है, उसी प्रकार 'PROMOTE' 

को '$$&&&$@' ललखा जाता है। 

37. Answer: (B)  

[@, %, $] से, हमें लमलता है 

'@', '$' के लवपरीत है। 

[%, $, #] से, हमें लमलता है 

'%', '#' के लवपरीत है। 

और '{', '&' के लवपरीत है। 

तो, '{' और '&' एक िूसरे के लवपरीत हैं। 

38. Answer: (D)  

ऊपर अपनार्ा गर्ा पैटनय इस प्रकार है: 

पहली सोंख्या के सभी अोंकोों का गुणनफल िूसरी सोंख्या के 

बराबर होता है। 

लवकल्प A में: 964: 216 

पहली सोंख्या = 964, िूसरी सोंख्या = (9 × 6 × 4) = 216 

लवकल्प B में: 445: 80 

पहली सोंख्या = 445, िूसरी सोंख्या = (4 × 4 × 5) = 80 

लवकल्प C में: 237:42 

पहली सोंख्या = 237, िूसरी सोंख्या = (2 × 3 × 7) = 42 

लवकल्प D में: 468:196 

पहली सोंख्या = 468, िूसरी सोंख्या = (4 × 6 × 8) = 192 

≠ 196 

लवकल्प D को छोड़कर उपरोक्त सभी लवकल्प समान 

पैटनय का पालन करते हैं। 

39. Answer: (C) 

लिर्ा गर्ा समीकरण: 176 + 4 ÷ 22 × 10 - 444 = 155 

लवकल्प A में लिए गए अोंकोों और लचह्ोों को परस्पर बिलने 

पर, हमें प्राप्त होता है: 

176 ÷22+4 × 10 - 444 = 155 

8 + 4 × 10 - 444 = 155 

8 + 40 - 444 = 155 

48 - 444 = 155 

-396 ≠ 155 

लवकल्प B में लिए गए अोंकोों और लचह्ोों को आपस में 

बिलने पर, हमें प्राप्त होता है: 

176 + 22 ÷ 4 × 10 = 444 - 155 

176 + 5.5 × 10 = 289 

176 + 55 = 289 

231 ≠ 289 

लवकल्प C में लिए गए अोंकोों और लचह्ोों को आपस में 

बिलने पर, हमें प्राप्त होता है: 

444 ÷ 4 + 22 × 10 - 176 = 155 

111 + 22 × 10 - 176 = 155 

111 + 220 - 176 = 155 

331- 176 = 155 

155 = 155 

लवकल्प D में लिए गए अोंकोों और लचह्ोों को आपस में 

बिलने पर, हमें र्ह लमलता है: 

176 × 4 ÷ 22 + 10 - 155 = 444 

32 + 10 - 155 = 444 
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42 - 155 = 444 

-113 ≠ 444 

इसललए, लवकल्प C में लिए गए अोंकोों और लचह्ोों को आपस 

में बिलने के बाि ही, हम एक सोंतुलन समीकरण प्राप्त 

कर सकते हैं। 

40. Answer: (C)  

र्हाूँ अनुसरण लकर्ा गर्ा तकय  र्ह है: 

-5 + 1 = -4 

-4 + 2 = -2 

-2 + 3 = 1 

1 + 4 = 5 

5 + 5 = 10 

10 + 6 = 16 

16 + 7 = 23 

23 + 8 = 31 

'1, 31' िी गई शृ्ोंखला को पूरा करेगा। 

पूरी शोंखला है: 

-5, -4, -2, 1, 5, 10, 16, 23, 31 

41. Answer: (D) 

र्हाूँ अनुसरण लकर्ा गर्ा तकय  इस प्रकार है: 

1) र्लि समर् 1 से 11 के बीच है तो वास्तलवक समर् ज्ञात 

करने के ललए लिए गए समर् को 11:60 से घटा लिर्ा जाता 

है। 

2) र्लि समर् 11 और 1 के बीच है तो वास्तलवक समर् 

ज्ञात करने के ललए लिए गए समर् को 23:60 से घटा लिर्ा 

जाता है। 

समर् 1 और 11 के बीच है, इसललए, लिर्ा गर्ा समर् 

11:60 से घटा लिर्ा गर्ा है। 

11:60 - 04:19 = 07:41 बजे 

तो, घड़ी पर लिखार्ा गर्ा समर् 07:41 बजे है। 

42. Answer: (D)  

लवकल्प A में, ‘P ÷ R + S',से, हमें पता चलता है लक P, R 

का लपता है और R, S का भाई है। 

 
र्हाूँ, R, S का भाई है। 

लवकल्प B', 'R + S × P', से हमें पता चलता है लक R, S का 

भाई है और S, P की बेटी है। 

 
र्हाूँ, R, S का भाई है। 

लवकल्प ‘C', 'P × S ÷ R', से, हमें पता चलता है लक P, S 

की बेटी है और S, R का लपता है। 

 

र्हाूँ, R, S का पुि/पुिी है। 

लवकल्प 'D', 'S ÷ P × R', से, हमें पता चलता है लक S, P 

का लपता है और P, R की बेटी है। 

 
र्हाूँ, R, S की पत्नी है। 

इसललए, लवकल्प D िर्ायता है लक R, S की पत्नी है। 

43. Answer: (B) 

र्हाूँ अनुसरण लकर्ा गर्ा तकय  इस प्रकार है: 

र्ब्दोों को अोंगे्रजी वणयमाला शृ्ोंखला के अनुसार पहले और 

अोंलतम अक्षर के स्थानीर् मान के र्ोग के रूप में कोलडत 

लकर्ा गर्ा है। 

'HIGH' के ललए: 

H I G H 

8   8 

Code = 8 + 8 = 16 

'VEIN' के ललए: 

V E I N 

22   14     

कोड = 22 + 14 = 36 

इसी प्रकार, 

'TOUR' के ललए: 

T O U R 

20   18      

कोड = 20 + 18 = 38 

अतः , 'TOUR' को '18' के रूप में कोलडत लकर्ा गर्ा है। 

जैसे 'HIGH' को '16' और 'VEIN' को '36' कोड लकर्ा 

जाता है, उसी प्रकार 'TOUR' को '38' कोड लिर्ा जाता है। 

44. Answer: (D) 

र्लि िपयण को आकृलत के िाईों ओर रखा जाए, 

 
45. Answer: (A)  

 
लिभुज हैं: AIL, ALH, ILH, ALB, ABH, JKL, KGH, JGM, 

BNC, GMF, CMO, CMF, MOF, CEF, CDO, CDF, 

DOF और DFE. 

तो, िी गई आकृलत में 18 लिभुज हैं। 

46. Answer: (C)  
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लिर्ा गर्ा कथन: K = L > M; S = O ≥ C; A < Z ≤ C; S 

≤ M 

सोंर्ोजन पर, 

K = L > M ≥ S = O ≥ C ≥ Z > A 

लनष्कर्षय: 

I. Z ≤ M: सत्य (चुलक, M ≥ S = O ≥ C ≥ Z, अतः  Z ≤ 

M)  

II. S > A: सत्य (चुलक, S = O ≥ C ≥ Z > A, अतः  S > A)  

III. K ≥ O: असत्य (चुलक, K = L > M ≥ S = O, अतः  K > 

O)  

इसललए, केवल लनष्कर्षय I और II सत्य हैं। 

47. Answer: (B)  

हम लनम्नललखखत आकृलत बनाते हैं: 

 
लनष्कर्षय: I. कुछ लजराफ ़ेिबरा नही ों हैं। र्ह लनलित रूप से 

इस प्रकार है लक कुछ लजराफ, जो लोंबे हैं, कभी ़ेिबरा नही ों 

हो सकते। 

लनष्कर्षय: II. कोई लोंबा छोटा नही ों है. र्ह लनलित रूप से 

इसका पालन नही ों करता है क्ोोंलक इसकी सोंभावना हो भी 

सकती है और नही ों भी। 

लनष्कर्षय: III. कुछ ़ेिबरा छोटे हैं. र्ह लनलित रूप से इसका 

पालन नही ों करता है क्ोोंलक इसकी सोंभावना हो भी सकती 

है और नही ों भी। 

लनष्कर्षय: VI. कुछ लोंबा ़ेिबरा नही ों है। र्ह लनलित रूप से 

इस प्रकार है क्ोोंलक कोई भी लोंबा ़ेिबरा नही ों है। 

उपरोक्त आोंकडे़ से, केवल लनष्कर्षय I और IV अनुसरण 

करते हैं। 

48. Answer: (B) 

अकेले कथन I से, L और N के बीच केवल एक व्यखक्त 

बैठता है। K, L के लनकटतम बाएों  नही ों बैठता है। हमें 

लमलता है: 

 
तो, K, N के लनकटतम बाएों  बैठा है। 

केवल कथन II से, L, K के िार्ें से तीसरे स्थान पर बैठा है। 

M, K के िार्ें से िूसरे स्थान पर बैठा है। हमें प्राप्त होता है: 

 

तो, K, N के लनकटतम बाएों  बैठा है। 

इसललए, अकेले कथन I र्ा कथन II में लिर्ा गर्ा डेटा प्रश्न 

का उत्तर िेने के ललए पर्ायप्त है। 

49. Answer: (D) 

कागज को काटने और खोलने के बाि, हमें लमलता है: 

 
50. Answer: (B)  

लनम्नललखखत व्यवस्था को लिए गए कथन से बनार्ा जा 

सकता है: 

 
इसललए, लजस लबोंिु से उसने रु्रुआत की थी उसके सोंबोंध 

में उसका गोंतव्य उत्तर-पलिम लिर्ा में है। 

General Awareness  

51. Answer: (B) 

रामकृष्ण लमर्न एक लहोंिू धालमयक और आध्याखत्मक 

सोंगठन है। र्ह लमर्न 1 मई, 1897 को रामकृष्ण परमहोंस 

के प्रमुख अनुर्ार्ी स्वामी लववेकानन्द द्वारा बनार्ा गर्ा था। 

सोंगठन मुख्य रूप से अदै्वत वेिाोंत, एक लहोंिू िर्यन, साथ 

ही चार र्ोग आिर्ों: ज्ञान, भखक्त, कमय और राज र्ोग को 

बढावा िेता है। 

रामकृष्ण लमर्न ने समाज सेवा और लनस्वाथय कार्य के 

माध्यम से मोक्ष के आिर्य पर जोर लिर्ा। 

रामकृष्ण परमहोंस (1834-86) 

• वह कलकत्ता के लनकट िलक्षणेश्वर में काली मोंलिर में 

पुजारी थे। 

• उन्ोोंने धालमयक लवलर्ष्टतावाि की लनोंिा की और धालमयक 

सावयभौलमकता का समथयन लकर्ा। 

• उन्ोोंने सभी धमों में सत्य को मान्यता िी और उपिेर् 

लिर्ा लक लहोंिू धमय, ईसाई धमय और इस्लाम अलग-अलग 

रासे्त हैं जो एक ही ईश्वर तक ले जाते हैं। 

• उन्ोोंने मूलतय पूजा को मान्यता िी लेलकन प्रतीकोों और 

अनुष्ठानोों पर नही ों बखि इरािे और भावना पर जोर लिर्ा। 

• उन्ें मानवीर् पीड़ा के प्रलत बहुत िर्ा थी और उन्ोोंने 

अपने लर्ष्ोों को लसखार्ा - र्ि जीव, ति लर्व (जहाूँ भी 

जीलवत प्राणी है, वहाूँ एक लर्व है)। 

हालाूँलक, रामकृष्ण का मुख्य जोर सामालजक मुखक्त के 

बजार् धालमयक मुखक्त पर रहा 

52. Answer: (D) 

काली लमट्टी को स्थानीर् रूप से रेगुर काली कपास लमट्टी 

के रूप में जाना जाता है। काली लमट्टी टर ैप लावा का वु्यत्पि 

है और ज्यािातर आोंतररक गुजरात, महाराष्टर , कनायटक और 

मध्य प्रिेर् में िक्कन लावा पठार और मालवा पठार पर 

फैली हुई है। 

काली लमट्टी पररपक्व लमट्टी है और िक्कन के अलधकाोंर् 

भाग पर इसी लमट्टी का कब्जा है। 
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53. Answer: (D) 

काडय भुगतान कों पनी वी़िा ने भारत में घरेलू टोकनरु्क्त 

के्रडेंलर्र्ल्स के ललए काडयधारक सत्यापन मूल्य (सीवीवी) 

मुफ्त ऑनलाइन लेनिेन की रु्रुआत की है। इस सुलवधा ने 

व्यापाररर्ोों को काडय को टोकन िेते समर् केवल एक बार 

तीन अोंकोों का सीवीवी सत्यालपत करने की अनुमलत िी है, 

लजससे ग्राहकोों को प्रते्यक घरेलू लेनिेन के ललए इसे िजय 

करने की आवश्यकता समाप्त हो गई है। 

54. Answer: (C)  

अनुचे्छि 46: अनुसूलचत जालत, अनुसूलचत जनजालत और 

अन्य कमजोर वगों के रै्लक्षक और आलथयक लहतोों को 

बढावा िेना। 

अनुचे्छि 335: सेवाओों और पिोों पर अनुसूलचत जालत और 

अनुसूलचत जनजालत का िावा। 

भारत के सोंलवधान के अनुचे्छि 338-ए के अनुसार, राष्टर ीर् 

अनुसूलचत जनजालत आर्ोग की स्थापना की गई है। 

55. Answer: (C) 

मुलर्यि कुली खान बोंगाल राज्य के सोंस्थापक थे। मुलर्यि 

कुली खान का जन्म 1670 में डेक्कन में सूर्य नारार्ण 

लमश्ा, एक लहोंिू के रूप में हुआ था। 

मुलर्यि कुली खान, लजन्ें मोहम्मि हािी के नाम से भी 

जाना जाता है और लजनका जन्म सूर्य नारार्ण लमश्ा के 

रूप में हुआ था, बोंगाल के पहले नवाब थे, लजन्ोोंने 1717 

से 1727 तक र्ासन लकर्ा। 

वर्षय 1700 के आसपास औरोंगजेब ने कुली खान को बोंगाल 

का िीवान लनरु्क्त लकर्ा। 

मुलर्यि कुली खान और उनके उत्तरालधकारी नवाबोों ने 

बोंगाल, लबहार और ओलडर्ा में स्वार्त्त राजाओों के रूप में 

र्ासन लकर्ा, लफर भी वे मुगल सम्राट को लनर्लमत आधार 

पर आर् प्रिान करते रहे। 

56. Answer: (D) 

सोंरु्क्त राष्टर  लवकास कार्यक्रम (रू्एनडीपी) ने िुलनर्ा के 

महासागरोों और नलिर्ोों में प्लाखिक प्रिूर्षण को खत्म करने 

के ललए ि ओर्न क्लीनअप के साथ एक समझौता ज्ञापन 

(एमओरू्) पर हस्ताक्षर लकए हैं। 

इसका उदे्दश्य प्रभावी प्लाखिक अपलर्ष्ट प्रबोंधन प्रणाललर्ोों 

को आगे बढाने और समग्र प्लाखिक प्रिूर्षण को कम 

करने के उदे्दश्य से नीलतर्ोों और व्यवहाररक पररवतयनोों को 

बढावा िेकर समुद्री पाररखस्थलतक तोंि में प्लाखिक के 

ररसाव को कम करना है। 

स्थालपत  1966  

मुख्यालर् नू्यर्ॉकय , सोंरु्क्त 

राज्य अमेररका 

प्रर्ासक अलचम िीनर 

57. Answer: (C)  

हैरी हेस एक भूलवज्ञानी थे लजन्ें पे्लट टेक्टोलनक्स के 

एकीकृत लसद्ाोंत के "सोंस्थापक लपता" में से एक माना 

जाता है। 

पे्लट टेक्टोलनक्स का लसद्ाोंत भूगलभयक और भूभौलतकीर् 

डेटा के व्यापक सोंशे्लर्षण पर आधाररत है। 

वेगनर के महाद्वीपीर् बहाव के लसद्ाोंत का समथयन करते 

हुए, हेस ने बतार्ा लक कैसे एक बार जुडे़ हुए महाद्वीप 

आज मौजूि सात महाद्वीपोों में अलग हो गए थे। महाद्वीप 

नाटकीर् रूप से नही ों बिलते हैं र्ा स्वतोंि रूप से नही ों 

चलते हैं बखि बिलती टेक्टोलनक पे्लटोों द्वारा स्थानाोंतररत 

होते हैं लजन पर वे आराम करते हैं। 

हैरी हेस ने 1962 में 'ि लहिर ी ऑफ ओर्न बेलसन्स' 

प्रकालर्त लकर्ा, लजसमें एक लसद्ाोंत को रेखाोंलकत लकर्ा 

गर्ा लक टेक्टोलनक पे्लटें कैसे घूम सकती हैं , लजसे बाि में 

'समुद्र तल प्रसार' कहा गर्ा। 

58. Answer: (D)  

ब्योपा पारोंपररक रूप से अरुणाचल प्रिेर् के आलिवालसर्ोों 

द्वारा पहना जाता है। न्यीर्ी समुिार् उत्तर-पूवी भारत में 

अरुणाचल प्रिेर् का सबसे बड़ा जातीर् समूह है। बार्ोपा 

(हेडलगर्र) - बेंत की टोपी के ऊपर हॉनयलबल की चोोंच और 

पोंख, अरुणाचल प्रिेर् में काफी प्रलसद् है। 

सूचीबद् बारह जनजालतर्ाूँ हैं: आलि (अबोर), अका (हु्रसो), 

अपातानी, न्यीर्ी, टैलगन, गैलो, खाम्प्प्ती, लमर्मी, मोम्बा 

(मोनपा), "कोई भी नागा जनजालत", रे्रडुकपेन, लसोंगफो। 

59. Answer: (D)  

़ेिनोग्राफ़्ट एक प्रकार का ऊतक ग्राफ्ट है लजसमें एक 

प्रजालत के िाता से िूसरी प्रजालत के प्राप्तकताय में ऊतक र्ा 

अोंग का प्रत्यारोपण र्ालमल होता है। 

उिाहरण के ललए, एक सुअर हृिर् वाल्व को मानव 

प्राप्तकताय में प्रत्यारोलपत लकर्ा जाना एक ़ेिनोग्राफ़्ट माना 

जाएगा। 

60. Answer: (D) 

सवोिर् एक र्ब्द है लजसका अथय है 'सावयभौलमक उत्थान' 

र्ा 'सभी की प्रगलत'। र्ह र्ब्द पहली बार मोहनिास गाोंधी 

द्वारा राजनीलतक अथयव्यवस्था पर जॉन रखिन के टर ैक्ट, 

"अनटू लिस लाि" के 1908 में अनुवाि के र्ीर्षयक के रूप 

में गढा गर्ा था, और गाोंधी ने अपने स्वर्ों के राजनीलतक 

िर्यन के आिर्य के ललए इस र्ब्द का उपर्ोग करना रु्रू 

लकर्ा। र्ह 'सबकी भलाई', 'सबकी सेवा' और 'सबका 

कल्याण' आलि का भी अथय िेता है। 

आधुलनक काल में सवोिर् र्ब्द का प्रर्ोग सबसे पहले 

महात्मा गाोंधी ने लकर्ा था। वु्यत्पलत्तर्ास्त्र की दृलष्ट से 

सवोिर् का अथय है 'सभी का उत्थान र्ा कल्याण'। 

61. Answer: (A)· 

माधवपुर मेला गुजरात के पोरबोंिर लजले के माधवपुर गाूँव 

में प्रलतवर्षय मनार्ा जाने वाला एक जीवोंत साोंिृलतक 

कार्यक्रम है। 

• माधवपुर घेड़ गाोंव वह स्थान है जहाों, लोककथाओों के 

अनुसार, भगवान कृष्ण ने राजा भीष्मक की बेटी रुखिणी 

से लववाह लकर्ा था। 

• इस आर्ोजन की सृ्मलत में हर साल रामनवमी से रु्रू 

होने वाले एक साोंिृलतक मेले का आर्ोजन लकर्ा जाता 

है। 

62. Answer: (D)  

राष्टर ीर् कृलर्ष लवस्तार पररर्ोजना 

राष्टर ीर् कृलर्ष लवस्तार पररर्ोजना (एनएईपी) वर्षय 1982-83 

के िौरान रु्रू की गई थी। र्ह कनायटक राज्य कृलर्ष 

लवभाग और अन्य सोंबोंलधत लवभागोों के के्षि लवस्तार 

पिालधकाररर्ोों को प्रलर्क्षण प्रिान करने और ज्ञान और 

कौर्ल को अद्यतन करने के ललए एक नोडल एजेंसी है। 

र्ह पररर्ोजना राष्टर ीर् िार्रे में थी लेलकन मुख्य रूप से 

छोटे पैमाने के लकसानोों द्वारा खेती लकए जाने वाले 

सामुिालर्क के्षिोों पर कें लद्रत थी। 

कोर टीम के तहत पहचाने गए सोंसाधन वैज्ञालनकोों के साथ 

लवस्तार समन्वर्क इन कार्यक्रमोों में भाग लेते हैं। 

63. Answer: (C)  

भार्षा से सोंबोंलधत सोंवैधालनक प्रावधान: 
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§ भारत के सोंलवधान का अनुचे्छि 29 अल्पसोंख्यकोों के 

लहतोों की रक्षा करता है। अनुचे्छि में कहा गर्ा है लक 

नागररकोों का कोई भी वगय लजसके पास "..अपनी लवलर्ष्ट 

भार्षा, लललप र्ा सोंिृलत है, उसे उसे सोंरलक्षत करने का 

अलधकार होगा।" 

§ अनुचे्छि 343 भारत सोंघ की आलधकाररक भार्षा के बारे 

में है। इस अनुचे्छि के अनुसार, इसे िेवनागरी लललप में 

लहोंिी होना चालहए, और अोंकोों को भारतीर् अोंकोों के 

अोंतरायष्टर ीर् रूप का पालन करना चालहए। इस अनुचे्छि में 

र्ह भी कहा गर्ा है लक सोंलवधान के प्रारोंभ से 15 वर्षों तक 

अोंगे्रजी आलधकाररक भार्षा के रूप में प्रर्ोग की जाती 

रहेगी। 

§ अनुचे्छि 346 राज्योों के बीच तथा एक राज्य और सोंघ के 

बीच सोंचार के ललए आलधकाररक भार्षा के बारे में है। 

अनुचे्छि में कहा गर्ा है लक "अलधकृत" भार्षा का उपर्ोग 

लकर्ा जाएगा। हालाूँलक, र्लि िो र्ा िो से अलधक राज्य इस 

बात पर सहमत हैं लक उनका सोंचार लहोंिी में होगा, तो 

लहोंिी का उपर्ोग लकर्ा जा सकता है। 

§ अनुचे्छि 347 राष्टर पलत को लकसी भार्षा को लकसी राज्य 

की आलधकाररक भार्षा के रूप में मान्यता िेने की र्खक्त 

िेता है, बर्ते लक राष्टर पलत सोंतुष्ट हो लक उस राज्य का एक 

बड़ा लहस्सा चाहता है लक उस भार्षा को मान्यता िी जाए। 

ऐसी मान्यता राज्य के एक लहसे्स र्ा पूरे राज्य के ललए हो 

सकती है। 

§ अनुचे्छि 350A प्राथलमक स्तर पर मातृभार्षा में लर्क्षा 

की सुलवधा. 

§ अनुचे्छि 350B भार्षाई अल्पसोंख्यकोों के ललए एक 

लवरे्र्ष अलधकारी की स्थापना का प्रावधान करता है। 

अलधकारी की लनरु्खक्त राष्टर पलत द्वारा की जाएगी और वह 

भार्षाई अल्पसोंख्यकोों के ललए सुरक्षा उपार्ोों से सोंबोंलधत 

सभी मामलोों की जाोंच करेगा और सीधे राष्टर पलत को ररपोटय 

करेगा। इसके बाि राष्टर पलत ररपोटय को सोंसि के प्रते्यक 

सिन के समक्ष रख सकते हैं र्ा उन्ें सोंबोंलधत राज्योों की 

सरकारोों को भेज सकते हैं। 

§ अनुचे्छि 351 कें द्र सरकार को लहोंिी भार्षा के लवकास के 

ललए लनिेर् जारी करने की र्खक्त िेता है। 

§ भारत के सोंलवधान की आठवी ों अनुसूची में मान्यता प्राप्त 

22 भार्षाओों की सूची है। 

64. Answer: (D)  

pH मान लकसी घोल की अम्लता र्ा क्षारकता का माप है। 

pH मान को मापने के ललए pH िेल का उपर्ोग लकर्ा 

जाता है। इसमें 0 से 14 तक का मान होता है। र्ह तटस्थ 

घोल के ललए 7 है और क्षारीर् घोल के ललए 7 से अलधक 

और अम्लीर् घोल के ललए 7 से कम है। 

मूि हिे पीले रोंग का तरल पिाथय और थोड़ा अम्लीर् 

प्रकृलत का होता है। मनुष्ोों में मूि पीएच का औसत मान 6 

है। 

द्रव का नाम pH  

बैटरी का अम्ल 1.0 

आमार्र् रस 1.0 - 3.0 

नी ोंबू 2.2 - 2.4 

लसरका 2.0 - 3.0 

र्राब 2.8 

टमाटर 4.0- 4.5 

भालू 4.5 

अम्ल वर्षाय < 5.5 

मूि (मानव) 6.0 

बाररर् का पानी 6.0 

गार् का िूध 6.3-6.6 

लार(मानव) 6.5 - 7.4 

पानी 7.0 

रक्त (मानव) 7.30 - 

7.40 

आूँसू 7.4 

समुद्र का पानी 8.4 

मैग्नीलर्र्ा का िूध 10.5 

65. Answer: (A) 

स्वणय जर्ोंती स्वरोजगार र्ोजना (एसजीएसवाई) का नाम 

बिलकर राष्टर ीर् ग्रामीण आजीलवका लमर्न 

(एनआरएलएम) कर लिर्ा गर्ा है, लजसे अब पररणामोों की 

ललक्षत और समर्बद् लडलीवरी के ललए चरणबद् तरीके से 

लमर्न मोड में लागू करने के ललए 'आजीलवका' नाम लिर्ा 

गर्ा है। 

र्ह र्ोजना स्वरोजगार को बढावा िेने और ग्रामीण गरीबोों 

के सोंगठन पर कें लद्रत है। एनआरएलएम भारत सरकार के 

ग्रामीण लवकास मोंिालर् द्वारा कार्ायखन्वत एक गरीबी 

उनू्मलन पररर्ोजना है। 

66. Answer: (A) 

पुरापार्षाण काल, लजसे पुराना पार्षाण रु्ग भी कहा जाता है, 

वह समर् था जब मनुष् ने पहली बार पत्थर के औजारोों 

का उपर्ोग करना रु्रू लकर्ा था। इसे तीन चरणोों में बाोंटा 

गर्ा है: 

• लनम्न पुरापार्षाण रु्ग: 500,000 ई.पू. और 50,000 ई.पू 

• मध्य पुरापार्षाण रु्ग: 50,000 ईसा पूवय - 40,000 ईसा 

पूवय 

• उच्च पुरापार्षाण रु्ग: 40,000 ईसा पूवय - 10,000 ईसा 

पूवय 

प्रमुख स्थल: मध्य प्रिेर् की नमयिा घाटी, राजस्थान में 

डीडवाना, महाराष्टर  में नेवासा, उत्तर प्रिेर् में लम़िायपुर और 

पलिम बोंगाल में बाकुों डा और पुरललर्ा, केरल में लचतू्तर 

आलि। 

गुजरात में लोंघनाज एक मध्यपार्षाणकालीन स्थल है। 

67. Answer: (D)  

कृलर्ष और ग्रामीण लवकास के ललए राष्टर ीर् कृलर्ष बैंक 

(नाबाडय) कृलर्ष और ग्रामीण लवकास के ललए लवत्त प्रिान 

करने वाली र्ीर्षय सोंस्था है। इसकी स्थापना 12 जुलाई 

1982 को सोंसि के अलधलनर्म 61, 1981 के माध्यम से की 

गई थी। नाबाडय कृलर्ष और ग्रामीण लवकास के ललए पुनलवयत्त 

प्रिान करता है। 

नाबाडय की स्थापना छठी पोंचवर्षीर् र्ोजना के िौरान जुलाई 

1982 में हुई थी। इसका मुख्यालर् मुोंबई में है। 

68. Answer: (C)  

रक्त कोलर्काएों  अखस्थ मज्जा में बनती हैं। अखस्थ मज्जा 

हलिर्ोों के कें द्र में नरम, स्पोंजी पिाथय है। अखस्थ मज्जा वह 

ऊतक है लजसमें बड़ी हलिर्ोों का कें द्र होता है। र्ह वह 

स्थान है जहाों नई रक्त कोलर्काएों  उत्पि होती हैं। अखस्थ 

मज्जा में िो प्रकार की िेम कोलर्काएूँ  होती हैं: 

हेमोपोएलटक (जो रक्त कोलर्काओों का उत्पािन कर 

सकती हैं) और िर ोमल (जो वसा, उपाखस्थ और हिी का 

उत्पािन कर सकती हैं)। 

69. Answer: (B) 
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भारत का सोंलवधान 1949 स्वतोंिता का अलधकार प्रिान 

करता है, जो व्यखक्तगत अलधकारोों की गारोंटी की दृलष्ट से 

अनुचे्छि 19 में लिर्ा गर्ा है, लजन्ें सोंलवधान लनमायताओों 

द्वारा महत्वपूणय माना गर्ा था। अनुचे्छि 19 में स्वतोंिता का 

अलधकार अपनी छह स्वतोंिताओों में से एक के रूप में 

भार्षण और अलभव्यखक्त की स्वतोंिता की गारोंटी िेता है। 

70. Answer: (A) 

र्ह लिन 28 जुलाई को नोबेल पुरिार लवजेता बारूक 

सैमुअल ब्लमबगय के जन्मलिन के सम्मान में मनार्ा जाता 

है, लजन्ोोंने हेपेटाइलटस बी वार्रस की खोज की थी और 

र्हाों तक लक इसके ललए नैिालनक परीक्षण और 

टीकाकरण भी बनार्ा था। 

71. Answer: (C) 

पृथ्वी का वारु्मोंडल कई परतोों में लवभालजत है और प्रते्यक 

परत एक महत्वपूणय भूलमका लनभाती है। लगभग 10-50 

लकमी तक फैली परत को समताप मोंडल कहा जाता है। 

ओजोन परत मुख्य रूप से पृथ्वी की सतह से लगभग 15 

से 30 लकमी ऊपर िर ैटोखिर्र में पाई जाती है। 

ओजोन परत पृथ्वी को सूर्य की रू्वी लकरणोों से बचाती है। 

ओजोन परत का 10% क्षोभमोंडल में और 90% 

समतापमोंडल में पार्ा जाता है। 

72. Answer: (C) 

पर्ायवास हालन जैव लवलवधता के ललए सबसे बडे़ खतरोों में से 

एक है। प्राकृलतक आवास का लवनार् जैव लवलवधता में 

कमी का मुख्य कारण है क्ोोंलक प्राकृलतक के्षिोों के 

पररवतयन से न केवल पौधोों की प्रजालतर्ोों का नुकसान होता 

है बखि उनसे जुड़ी परु् प्रजालतर्ोों में भी कमी आती है। 

जैव लवलवधता को सबसे अलधक ख़तरा प्राकृलतक आवासोों 

और वनस्पलतर्ोों के लवनार् से है। 

73. Answer: (D) 

अोंडे का लछलका लगभग पूरी तरह से कैखशर्र्म काबोनेट 

लक्रिल से बना होता है। 

अोंडे का लछलका एक अधयपारगम्य लझल्ली है, लजसका अथय 

है लक हवा और नमी इसके लछद्रोों से गुजर सकती है। खोल 

में एक पतली बाहरी परत भी होती है लजसे बू्लम र्ा 

कू्लटकल कहा जाता है जो बैक्टीररर्ा और धूल को िूर 

रखने में मिि करती है। 

कैखशर्र्म काबोनेट CaCO₃ सूि वाला एक रासार्लनक 

र्ौलगक है। र्ह चट्टानोों में कैल्साइट और अगोनाइट 

खलनजोों के रूप में पार्ा जाने वाला एक सामान्य पिाथय है 

और अोंडे के लछलके, गैिर ोपॉड के गोले, रे्ललफर् के 

कों काल और मोलतर्ोों का मुख्य घटक है। 

74. Answer: (B) 

उच्च न्यार्ालर्ोों के मुख्य न्यार्ाधीर् और न्यार्ाधीर्ोों की 

लनरु्खक्त सोंलवधान के अनुचे्छि 217 के खोंड (1) के तहत 

राष्टर पलत द्वारा की जाती है। 

भारत के मुख्य न्यार्ाधीर् भारत के सवोच्च न्यार्ालर् के 

मुख्य न्यार्ाधीर् होने के साथ-साथ भारतीर् न्यार्पाललका 

के सवोच्च पि के अलधकारी भी होते हैं। 

75. Answer: (B) 

भारतीर् मलहला हॉकी टीम की पूवय कप्तान रानी रामपाल 

के सम्मान में उत्तर प्रिेर् के रार्बरेली में मॉडनय कोच 

फैक्टर ी (एमसीएफ) िेलडर्म का नाम बिलकर 'रानी गल्सय 

हॉकी टफय ' कर लिर्ा गर्ा है। 

इसके साथ ही रानी रामपाल पहली भारतीर् मलहला हॉकी 

खखलाड़ी बन गई हैं लजनके नाम पर िेलडर्म का नाम रखा 

गर्ा है। 

• उन्ें 2020 में राजीव गाोंधी खेल रत्न (अब मेजर ध्यानचोंि 

खेल रत्न) और पद्मश्ी पुरिार से सम्मालनत लकर्ा गर्ा। 

• वह राजीव गाोंधी खेल रत्न पुरिार पाने वाली पहली 

मलहला हॉकी खखलाड़ी थी ों। 

• 2009 में सीलनर्र पिापयण के बाि से उन्ोोंने भारत के 

ललए 250 से अलधक अोंतरायष्टर ीर् मैच खेले हैं। 

English Language 

76. Answer: (C)  
(c) is the right answer. COMMEND means to praise 
someone officially. REBUKE (express disapproval) 
will be its antonym. 
Depart - leave. Delay - slow down. Praise - 
compliment. 

77. Answer: (B) 
he error is in part B of the sentence. The present 
participle verb INTERRUPTING should be replaced 
with its past participle form INTERRUPTED, as the 
passive voice construction WAS + VERB takes the 
past participle form of the verb. 
Thus, B is the right answer. 
The use of present participle conveys the meaning 
that the cross-examination was interrupting, which is 
illogical because cross-examination is an activity. It 
cannot interrupt someone or something. 

78. Answer: (C)  
(c) is the right answer. EXAGGERATE means to over 
emphasise something than it really is. AMPLIFY 
(increase in magnitude) will be its synonym. 
Exert - apply. Imply - hint. Accentuate - make 
something more prominent. 

79. Answer: (A) 
The word INEVITABLE means certain to happen and 
cannot be avoided. The word AVOIDABLE means 
able to be prevented or avoided and expresses the 
opposite meaning of the given word. 
Thus, A is the right answer. 
CONSTANT - occurring continuously over a period of 
time. 
EXTREME - reaching a high or the highest degree. 
VAGUE - uncertain or unclear. 

80. Answer: (A)  
We need a verb in base form to fit in TO + VERB 
infinitive construction. ENCOUNTER (come face to 
face with) will fit here as the sentence talks about how 
dozens of media outlets have had to face the public 
who did not trust them. Thus, A is the right answer. 
Elope - run away. Entice/ allure - attract. 

81. Answer: (A) 
We need an adjective to modify the noun WORK 
ETHIC. The sentence seeks to convey that the team 
was successful because they always maintained the 
same work ethic. CONSISTENT (acting or doing 
things the same way over time) fits here. 
Thus, A is the right answer. 
UNCONVENTIONAL - not based on or conforming to 
what is generally done or believed. 
MEDIOCRE - of only average quality. 
HAPLESS - unfortunate. 

82.  Answer: (C)  
We need a noun to be modified by the adjective 
EXCELLENT. The sentence seeks to convey that the 
day is an excellent occasion for spending quality time 
with friends. OPPORTUNITY (an occasion or chance 
to do something) will fit here. 
Thus, C is the right answer. 
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The rest of the options are contextually incorrect. 
INSPECTION - careful examination. 
NEGOTIATION - discussion to reach an agreement. 
AWARENESS - knowledge of a situation or fact. 

83. Answer: (B) 
We need the past participle form of the verb to 
complete the passive voice structure WAS + VERB. 
The sentence seeks to convey that the first Sunday of 
August was chosen as National Friendship Day. 
SELECTED (chosen in preference to others) will fit 
here. 
Thus, B is the right answer. 
The rest of the options are contextually incorrect. 
PLEASED - made someone happy and satisfied. 
WASTED - used carelessly or more of something 
than is necessary. 
MIGRATED - moved from one place to another. 

84.  Answer: (A) 
We need a noun to form the object of the preposition 
INTO. The sentence seeks to convey that June 8 
came to be recognised as National Best Friends Day. 
EXISTENCE (the state of being real or recognised) 
will fit here. 
Thus, A is the right answer. 
The rest of the options are contextually incorrect. 
RETALIATION - an act of revenge. 
COMPETITION - a situation in which people try to be 
more successful than others. 
OBLIGATION - something that one must do. 

85.  Answer: (D) 
We need an adjective to be modified by the adverb 
WELL. The sentence seeks to convey that the day 
was not well recognised by people, or we can say that 
people were not familiar with the day. KNOWN 
(generally recognised) will fit here. 
Thus, D is the right answer. 
The rest of the options are contextually incorrect. 
ARGUED - disagreed. 
FASCINATED - attracted or interested someone. 
REQUESTED - politely asked for something. 

86.  Answer: (B) 
We need the base form of a verb to come after the 
plural noun PEOPLE, as the sentence states a fact. 
The sentence seeks to convey that people take part 
in a variety of activities. PARTICIPATE (to take part in 
an activity) will fit here. 
Thus, B is the right answer. 
The rest of the options are contextually incorrect. 
TRANSFORM - to change in form, appearance, or 
structure. 
RETAIN - to keep or continue to have something. 
INHERIT - to receive money or property from 
someone who has died. 

87. Answer: (B) 
The idiom LET THE CAT OUT OF THE BAG means 
to reveal a secret. 
Thus, B is the right answer. 

88. Answer: (B)  
The sentence is in active voice and in the present 
perfect tense (HAVE CONVINCED). Follow the rules 
below to convert a sentence to passive voice: 
I. The subject clause will become the object clause. 
Here, the subject THE YOUNG LAD will change to 
the object, and the object THE RICH WIDOW, will 
change into the subject and begin the sentence. 
II. Replace HAVE CONVINCED with HAVE BEEN 
CONVINCED. The passive voice construction for the 
present perfect tense is "HAS/HAVE + BEEN + past 
participle". 
III. Add the conjunction BY before THE YOUNG LAD 
to link the verb with its object. 

89. Answer: (D) 

The idiom OUT OF THE WOODS means to no longer 
be in danger or difficulty. Thus, D is the right answer. 

90. Answer: (B)  
HELD BACK (to restrain) will fit here as the sentence 
tells us how the speaker restrained his anger during 
the episode. 
Held on - waited. Held up - delayed. Held off - to 
block or come in the way. 

91. Answer: (C) 
We need a phrase that can highlight the action of 
considering or thinking about the possibility of building 
the shopping centre. LOOKING AT (considering or 
thinking about something) can replace the bold 
phrase in the sentence. Thus, C is the right answer. 
LOOKING TO - hoping for help or advice from 
someone. 
LOOKING UP TO - respecting or admiring someone. 
LOOKING AFTER - taking care of something or 
someone. 

92. Answer: (C) 
The correct spelling of the given word is 
INNUMERABLE (too many to be counted). 
Thus, C is the right answer. 

93. Answer: (C)  
The sentence is in direct speech. To convert this 
sentence to indirect speech, follow these rules: 
I. Remove the comma and the inverted commas. 
II. Begin the indirect speech sentence with the 
reporting speech clause KAVYA TOLD HIM. 
III. Put THAT between the reporting and reported 
speeches. 
IV. Change the first person pronoun I to the third 
person pronoun SHE. 
V. Change the present continuous (AM GOING) to 
past continuous (WAS GOING). 
VI. Use the following syntax: Reporting speech clause 
(KAVYA TOLD HIM) +THAT+ Subject (SHE) + verb 
clause (WAS GOING) + Object (TO TELL THE 
MANAGER). 

94. Answer: (B) 
QSPR is the correct sequence. Q begins the passage 
by introducing the topic - tea leaves. S follows S by 
telling us what happens when the tea leaves are 
brewed. P further elaborates on the process. R 
concludes the passage by describing how a stain is 
formed. Thus, B is the right answer. 

95. Answer: (D)  
The sentence is in direct speech. Follow the 
instructions to change the sentence to indirect 
speech: 
I. Remove the comma and inverted commas. 
II. SAID TO will be replaced by TOLD. Add THAT 
after the reporting speech clause, "MOHAN TOLD 
ME." 
III. The present perfect tense verb HAVE BEEN 
PREPARING will change to the past perfect tense 
verb HAD BEEN PREPARING. 
IV. The first person pronoun I will change to the third 
person pronoun HE. 

96. Answer: (A) 
A NOVICE is a person who is new to or 
inexperienced in a job or situation. Thus, A is the right 
answer. 
VETERAN - a person who has had long experience in 
a particular field. 
CONNOISSEUR - an expert judge in matters of taste 
or quality. 
AFICIONADO - a person who is very knowledgeable 
and enthusiastic about an activity, subject, or 
pastime. 

97. Answer: (A) 
We need a phrase that can highlight the action of 
connecting the speaker to a senior manager by 
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phone. PUT THROUGH (to connect somebody to 
another person on the telephone) can replace the 
bold phrase in the sentence. Thus, A is the right 
answer. 
Put somebody up to something - to encourage 
someone to do something bad. 
Put someone down - to criticise someone. 
Put someone off - to distract someone. 

98. Answer: (B) 
UNANIMOUS means in complete agreement. Thus, B 
is the right answer. 
UBIQUITOUS - existing or found everywhere. 

UTOPIA - a perfect society. 
UNAVOIDABLE - not able to be prevented. 

99. Answer: (D)  
The correct spelling of the word is DUPLICITOUS 
(dishonest). 
Diaphanous - transparent. Ambiguous - having many 
interpretations. Amicable - friendly. 

100. Answer: (C) 
In C, replace the plural form verb BECOME with 
BECOMES as we need a singular verb to agree with 
the singular subject pronoun SHE. Thus, C is the right 
answer. 
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